NAIR Assistant Financial Advisor AFA

Topic:- AFA_PA_NAIRJUNE23

1) Budget reviews conducted on Railways are:

i. August Review
ii. Revised Estimate & Budget Estimate
ili, Final Modification

Which one is the correct option:

(1) (i) & (iii)
(2) Only (ii)
(3) (i), (i), (iii)
(4) Only (i)
oa # S g9 gAHET g § T &
i. 3ETET FHET
ii. NS g T gC A
iii, 3IfEF 3meneE
8 ¥ @8 Rdey g4
(1) (i) 3R (iii)
(2) ®aa (i)
(3) (i), i), 3R (iii)
(4) et (jii)
[Question ID = 701][Question Description = Q01_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 2801]
2. (2) [Option ID = 2802]
3. (3) [Option ID = 2803]
4. (4) [Option ID = 2804]
Correct Answer :-

e (1) [Option ID = 2801]

Which of the following statement(s) is / are true?

(1) No liability can be incurred without budget
provision

(2) No liability can be incurred without
appropriation or fresh allotment, where budget
provision is insufficient

(3) Both are correct

(4) None of these.

FafeiEa syl # @ sl &1 §& 87

(1) foeT a=ie & Suaeyar & fopdr #ic W @ FE€ o §aar &
(2) STET FE F3 Y SUFYUST gAH A& &, g7 forar
feraar & a1 9 B3 dfea v, B wd FE
I AT GHaT &
(3) At @ ®
(4) et e T B



[Question ID = 702][Question Description = Q02_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 2805]
2. (2) [Option ID = 2806]
3. (3) [Option ID = 2807]
4. (4) [Option ID = 2808]

Correct Answer :-

® (3) [Option ID = 2807]

Which is NOT a tool for controlling revenue expenditure

(1) Fixing Spending Limits
(2) Fixing Proportionate Budget Allotments

(3) Watching the progress of expenditure through Revenue
Allocation Registers

(4) Watching the progress of expenditure through Works
Registers

3TH U B TATT @H B FAIT FIE A YT Fer 27

(1) @ &I 1 AT B T FIEAT

(2) 3nguTfoe asie 3maca @ Yo &yar

(3) T=IEa Tded IToIEel g @A & uarfg WX A7 I@aT
(4) Frator IfSTeT g wg & gafa oY 47 q@aT

[Question ID = 703][Question Description = Q03_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 2809]

2. (2) [Option ID = 2810]

3. (3) [Option ID = 2811]

4. (4) [Option ID = 2812]

Correct Answer :-

o (4) [Option ID = 2812]

Suspense dgrant of railways includes

(1) Stores suspense

(2) Manufacture Suspense

(3) Miscellaneous Advances (Capital)
(4) All of these

T & 399 Hegelad H AMAS erar &

(1) {3 394

(2) Ao 39g

(@) fafag #f3 (4=
(4)za8 ¥ g

[Question ID = 704][Question Description = Q04_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 2813]
2. (2) [Option ID = 2814]
3. (3) [Option ID = 2815]
4. (4) [Option ID = 2816]

Correct Answer :-
o (4) [Option ID = 2816]



5)
Exchequer Control is

(1) Imposing restrictions on drawing limits on the banks

(2) Self imposed expenditure discipline against budget
allotment

(3) Self imposed expenditure discipline against cash content of
budget allotment

(4) None of these

ST fFgIor g

(1) &t &7 TEor HAT WX gfaay F9nar
(2) Imafed asic @ §@S §U @A UX ¥IF FAIT §IT HATHA
(3) asic HETH & ABE! [6¢H & @I UL AIMAT ;T

AT
(4) 35 ¥ Prs T&

[Question ID = 705][Question Description = Q05_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 2817]
2. (2) [Option ID = 2818]
3. (3) [Option ID = 2819]
4. (4) [Option ID = 2820]

Correct Answer :-
e (3) [Option ID = 2819]

Of the following, which is NOT an adjustment transaction

(1) Issue of maintenance Stores from a store's depot

(2) Contract payment to a State Electricity Board

(3) Payment made by a nominated Railway, being accepted by
consignee Railway

(4) Acceptance of a POH debit raised by a workshop for the
work done

faFataiaa # ¥ olF gaaad ddea & J87 39T &

(1) =R Bt & I@yErg WS &1 fasis
(2) U= fISel AT F FFIY PIara
(3) FANATT YT FT GoTATa e fog mfwfa &
FdraY foar &
(4) HIXEEr g fer v mafs avEra &ard & forr s
v 3fae @1 wdr@ g Sarn

[Question ID = 706][Question Description = Q06_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 2821]

2. (2) [Option ID = 2822]

3. (3) [Option ID = 2823]
4. (4) [Option ID = 2824]
Correct Answer :-

e (2) [Option ID = 2822]



7)
Abstract N is used for booking of expenditure of

(1) Revenue Suspense
(2) Retirement benefits
(3) Appropriation to funds
(4) Staff welfare

TR v Toras @ @ g W & forT SUF F ArAm A &

(1) USTET 394

(2) Farfagfa ey

(3) &=y & fafaaer
(4) FFATN FeTTOT

[Question ID = 707][Question Description = Q07_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 2825]

2. (2) [Option ID = 2826]

3. (3) [Option ID = 2827]

4. (4) [Option ID = 2828]

Correct Answer :-

e (1) [Option ID = 2825]

Leave encashment to serving railway servants is booked to which
Primary Unit?

(1) PU- 25 of Abstract L
(2) PU- 25 of respective Abstracts
(3) PU- 20 of respective Abstracts
(4) PU- 02 of Abstract L

HaAITd IF FAATIT B Fieedl & TFHerdiur o oy mAfHs
s & go foRaT Frar @

(1) ¥R U & 491.3-25 &
(2) Fafd WX & W.3-25 F
(3) WAYT TR & WLE-20 F
(4) 91T T & Ur.35-02 H

[Question ID = 708][Question Description = Q08_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 2829]
2. (2) [Option ID = 2830]
3. (3) [Option ID = 2831]
4. (4) [Option ID = 2832]

Correct Answer :-
® (3) [Option ID = 2831]



9)
Cost of Training of the following:
i Other than Hindi & Medical

ii. Hindi
iti. Medical, Health and Welfare,

is booked to which Abstract?

(1) Abstract J
(2) Abstract K
(3) Abstract L
(4) None of these

farafefEa & ol o @4

() f&dr 3R Rfteer o oz
() =&
() Ffeean, e 3R Feamr

fore @R 3 g @ar &2

(1HER &
(2) X &
(3) MIT TH
(4) 39F @ g AL

[Question ID = 709][Question Description = Q09_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 2833]
2. (2) [Option ID = 2834]
3. (3) [Option ID = 2835]
4. (4) [Option ID = 2836]

Correct Answer :-
e (2) [Option ID = 2834]

Inter Railway Financial Adjustment charges of rolling
stock are booked to which Abstract and Sub-head?

(1) Abstract G, 740
(2) Abstract G, 750
(3) Abstract H, 950
(4) All of these

T TETH &1 AT Ioa fadra gararaa T 5o @ 3y 39
Mg F g arar &

(1) "X =T, 740
(2) ¥ ST, 750
(3) HIT T, 950
(4) s T

[Question ID = 710][Question Description = Q10_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 2837]
2. (2) [Option ID = 2838]
3. (3) [Option ID = 2839]
4. (4) [Option ID = 2840]

Correct Answer :-
® (2) [Option ID = 2838]



11)

Expenditure under revenue Primary Units 1 to 16 are generally
called as

(1) Contingent expenditure
(2) Staff expenditure

(3) Contractual obligations
(4) Stores expenditure

UFET =TT & 3T NATHE SHS 1 ¥ IHT 16 dF AT
Fq Y HEdTar

(1) Iguifaras =g

(2) FHITH =TT

(3) FFAUTHD GIacd
(4) W3R =¥

[Question ID = 711][Question Description = Q11_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 2841]
2. (2) [Option ID = 2842]
3. (3) [Option ID = 2843]
4. (4) [Option ID = 2844]

Correct Answer :-
e (2) [Option ID = 2842]

Electrical energy bill, traction as well as non-traction is
now booked to which PU?

(1) PU 30
(2) PU 28
(3)PU 33
(4) PU 32

forga =1 foer I8 HYor f & 1 FET
HArar @, AT fog wafHs sors F g erdr
&

(1) 1.3 30
(2) WI.3 28
(3) WI.3 33
(4) 9.3 32

[Question ID = 712][Question Description = Q12_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 2845]
2. (2) [Option ID = 2846]
3. (3) [Option ID = 2847]
4. (4) [Option ID = 2848]

Correct Answer :-
e (1) [Option ID = 2845]



13)
Loco performance (GTKM debits/credits) are booked to which
PU?

(1) PU 33
(2) PU 61
(3) PU 27
(4) None of these

=5 fonucs (g o foal sfae/wfee) = fog wufas sos
# g fovar Srar &

(1)9r.3 33
(2) U3 61

(3) W3 27

(4) =FH T @IS Tal

[Question ID = 713][Question Description = Q13_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 2849]
2. (2) [Option ID = 2850]
3. (3) [Option ID = 2851]
4. (4) [Option ID = 2852]

Correct Answer :-
® (2) [Option ID = 2850]

Pick correct order in accounting classification for works

(1) Source/sub head/plan head/primary unit
(2) Plan head/source/sub head/primary unit
(3) Plan head/sub head/source/primary unit
(4) Source/plan head/sub head/primary unit

fFar @rgt & Jwiaa aeffaor &1 T & ga:

(1) ;as 3v fd/ Frsar ofds wafds sars
(2) M=t M/ AT/ 37 RN/ wafHs sars
(3) M=t MY/ 37 MY/ Was mafds gars
(4) Wa/ e M, 37 Mg/ wmrufHs sHs

[Question ID = 714][Question Description = Q14_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 2853]
2. (2) [Option ID = 2854]
3. (3) [Option ID = 2855]
4. (4) [Option ID = 2856]

Correct Answer :-
® (4) [Option ID = 2856]



15)
Transfer Without Financial Adjustment is done by
(1) preparing JV
(2) by altering balances in the ledger

(3) Both of these
(4) None of these

foaTr 37ayer & fadig gaRTAaST &y forar amar &

(1) 3.8 a=TRT

(2) 99T # AU H H-dEADPT
(3) arar wer ¥

(4) 38 @ Pg &

[Question ID = 715][Question Description = Q15_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 2857]
2. (2) [Option ID = 2858]
3. (3) [Option ID = 2859]
4. (4) [Option ID = 2860]

Correct Answer :-

e (2) [Option ID = 2858]

Journalise GTKM debit from X railway to Y railway

(1) Transfer Railways Y Dr; Abstract H (-) Dr

(2) Abstract H Dr; Transfer Railways X Cr

(3) Both carried out in transferor Rly -X and transferee Rly-Y
(4) None of these

XIGd ¥ Y IFT Al §dhd e [T (& .a.vx) 3fae fegar
SATET 2, 3T FASAIHIT &Y

(1) 3aT0T & Y 2fae; a) H () 3fee

(2) | H 3fag; 3ator I9d X &ofse

(3) @XAT glom, X- TT ¥ aor TeaAr =, i Y-3§T &t
TEPT FaT

(4) 39H @ I3 @

[Question ID = 716][Question Description = Q16_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 2861]
2. (2) [Option ID = 2862]
3. (3) [Option ID = 2863]
4. (4) [Option ID = 2864]

Correct Answer :-
e (3) [Option ID = 2863]



17)

For meeting unforeseen expenditure, pending
authorization from Parliament, this fund is kept at the
disposal of President of India

(1) Public Account of India

(2) Contingency Fund of India
(3) Consolidated Fund of India
(4) All of these

Fu=AIira @d & @ wa & foe, safes @6 @
uIigd glar e JfFaa &, 33 & @ ugafa &
e T@r A ar @

(1) §IRT &7 WIS @Tam
(2) \ITT &1 nHiEABar At
(3) {TAT @I FAToa

(4) =FH T T

[Question ID = 717][Question Description = Q17_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 2865]
2. (2) [Option ID = 2866]
3. (3) [Option ID = 2867]
4. (4) [Option ID = 2868]

Correct Answer :-
® (2) [Option ID = 2866]

Find the odd one: Link heads maintained in the
commercial accounts of Railway and Government
Accounts

(1) Demands Payable
(2) Labour

(3) Stores in Transit
(4) Traffic Account

s fausm o §E : 57 Tus et & FeIm F YT &
sargarias o@ T gTEH 99 & AT Arar &

(1) &g AT

(2) A

(3) HATT HIT
(4) ITITATT Gl

[Question ID = 718][Question Description = Q18_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 2869]
2. (2) [Option ID = 2870]
3. (3) [Option ID = 2871]
4. (4) [Option ID = 2872]

Correct Answer :-
® (3) [Option ID = 2871]



19)
Closed Provident Fund accountis are credited to

(1) Abstract Z

(2) Deposit Miscellaneous (PF)
(3) Deposit-Unpaid Wages

(4) None of these

gg g3 afaey Af @ @ $ize fear s ¢

(1) gy =’

(2) forgia fafag (wfasy &)
(3) foveiw argw aaa

(4) 3 ¥ @5 T4

[Question ID = 719][Question Description = Q19_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 2873]
2. (2) [Option ID = 2874]
3. (3) [Option ID = 2875]
4. (4) [Option ID = 2876]

Correct Answer :-
e (2) [Option ID = 2874]

Report on Debt and Remittance head balances
submitted to Railway Board as part of Finance
accounts is called

(1) Debt head report

(2) Half-yearly review of suspense balances
(3) Half-yearly arrear report

(4) Outturn Statement

fa 99T & US HIT F FT F HoT v ggorr Mg
& gorar & A O Wy @i F F&h FJdr g
deolrdr &

(1) o7 Shry Rrare

(2) 3O gHTET DY TATET TATET
(3) g@ra @ saTE O

(4) 3cUtge feaavoft

[Question ID = 720][Question Description = Q20_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 2877]
2. (2) [Option ID = 2878]
3. (3) [Option ID = 2879]
4. (4) [Option ID = 2880]

Correct Answer :-
e (1) [Option ID = 2877]



21)

Transactions pertaining to Defence & Postal
originated in Railways are adjusted by
operating a suspense head called

(1) PAO/AG suspense
(2) M-Remittances

(3) Reserve Bank Deposit
(4) Cheques & Bills

e 3T 3Te Rrwmar ¥ 3T I daaa S
6 ToId & A g3 &1, B AT TH
sag MY @asy fegr srar & oY aed &

(1) dre.3t/s vl 39
(2) TH-UYOITT

(3) = & e

(4) 35 va faa

[Question ID = 721][Question Description = Q21_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 2881]

2. (2) [Option ID = 2882]

3. (3) [Option ID = 2883]

4. (4) [Option ID = 2884]

Correct Answer :-

e (2) [Option ID = 2882]

Payments under NPS are now booked to which Abstract and Sub
Head?

(1) L-650

(2) N-130

(3) M-110

(4) None of these

A% G IrSTaT F HTNT Yrarar o forg | i sT AT F g
forar Srar 2

(1) TaI-650
(2) TA-130
(3) TH-110

(4) 3H | DI T

[Question ID = 722][Question Description = Q22_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 2885]
2. (2) [Option ID = 2886]
3. (3) [Option ID = 2887]
4. (4) [Option ID = 2888]

Correct Answer :-
e (1) [Option ID = 2885]



23)
Re-appropriation of funds for booking expenditure of left
over works to a work not appearing in the LAW book

(1) is within the powers of Railway Board

(2) is to be revived first and then only
sanctioned by GM

(3) is within the powers of GM

(4) is within the powers of DRM

TI-GT WA & BE P UH V@ HF F gATAASAT
& S fom ar-ge #F sueed J6 ¥

(1) T ars & gferat & ofrax &

(2) 38 Ugd gaSifad &iar @ T 9 &
Fauaus & TA@id A @

(3) ¥g HEvay® o AfFAT & faT 2

(4) TE #=A I Ya9d & Afeal & faw &

[Question ID = 723][Question Description = Q23_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 2889]
2. (2) [Option ID = 2890]
3. (3) [Option ID = 2891]
4. (4) [Option ID = 2892]

Correct Answer :-
e (2) [Option ID = 2890]

Which of the following is/are irregular re-appropriation(s)?

i). re-appropriation of funds as a whole with the intention of
restoring later

ii). Safety Fund to Capital

iii}). re-appropriation of funds under revenue expenditure from
PU 27 to PU 28

(1) Only (i) is correct
(2) (i) & (ii) are correct
(3) Only (iii) is correct
(4) (ii) & (iii) are correct

Teataiaa d @ olg yRafEa wimsa & Sof F am3a

(i) a5 & Fere o & & e ¥ gE B o wikhea

(i) @& AT ¥ gSh &

(iii) T=TFET @H & Igag TRt & wafHs swg 27 ¥ W
28 # gaAtdarsa

(1) Pad (i) W ¢
(2) (i) 3T (i) w&r &
(3) Shae (iii) TN ¥
(4) (i) 30 (iii) @& &

[Question ID = 724][Question Description = Q24_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 2893]
2. (2) [Option ID = 2894]
3. (3) [Option ID = 2895]
4. (4) [Option ID = 2896]

Correct Answer :-
e (2) [Option ID = 2894]



) Examples of Charged expenditure

(1) Pay and allowances of C&AG

(2) Any award decreed by court of law
(3) None of these

(4) Both of these

qTA AT HT IS0 2

(1) == mE wEeET TIEE W dqd A 9o
(2) Bt =amaTeT w1 oS e gar @ fw T gEmeTr
(3) T wrE
(4) =7/ 7 =rAr
[Question ID = 725][Question Description = Q25_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 2897]
2. (2) [Option ID = 2898]

)
3. (3) [Option ID = 2899]
4. (4) [Option ID = 2900]

Correct Answer :-
e (4) [Option ID = 2900]

For accepting debits received towards Fuel for other than
traction purpose drawn from Stores, budget is sought under
which Sub Major Head & PU of Revenue budget?

(1) Respective Sub Major heads under PU 18
(2) Respective Sub Major heads under PU 27
(3) Respective Sub Major heads under PU 31
(4) Respective Sub Major heads under PU 32

HSW & W §U TEUT F IR U & S @ THoR B
& fouw ags Uswm Toc fw 3u F@Ew oW 3R
AT SHS F AIW AT &

(1) gafaa 39 geg Mg & urs.as
(2) gafaa 39 F&g Mg F ur.3.27
(3) Hafaa 39 &g MY F ur.3.31
(4) gafg 39 g7 Nd & wrz.32

[Question ID = 726][Question Description = Q26_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 2901]
2. (2) [Option ID = 2902]
3. (3) [Option ID = 2903]
4. (4) [Option ID = 2904]

Correct Answer :-
e (3) [Option ID = 2903]



27)
Block account reflects the value of railway physical assets
created out of

(1) Loan Capital
(2) Loan Capital & Internal sources of Railway

(3) Internal sources of railways
(4) EBR-P, EBR-Deposits, EBR-IF & EBR-PPP

s oEr # Y@y & Aifgw oty F mpy o G aEr
& S gaar #

(1) FoT 4= |

(2) ®UT Usll Td Yad & NdNe FEaa &

(3) T & HINH TGS §

(4) SdramT-dY, SdvaT-faetya, SdvamT-3ms T AT Sedae-
grardT &

[Question ID = 727][Question Description = Q27_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 2905]
2. (2) [Option ID = 2906]
3. (3) [Option ID = 2907]
4. (4) [Option ID = 2908]

Correct Answer :-
® (2) [Option ID = 2906]

Misclassifications (between Voted and Charged;
Revenue and Capital segments; between different
sources of Financing etc) detected in the accounts
are reflected in which Annexure?

(1) Annexure H
(2) Annexure |
(3) Annexure J
(4) Annexure K

AW FH (Fdrpa 3T UyT; TFFg HIT & g3
faferee o At & dr9) At aTeg gefieor &1
gar aodr €, 98 fow HgTeg F gUTI F1ar #

(1) 31T H
(2) gD |
(3) HF=DT J
(4) IFedE K

[Question ID = 728][Question Description = Q28_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 2909]
2. (2) [Option ID = 2910]
3. (3) [Option ID = 2911]
4. (4) [Option ID = 2912]

Correct Answer :-
e (3) [Option ID = 2911]



29)

Appropriation Accounts for Capital grant are
compiled plan head wise in how many segmenis?

(1) Capital

(2) Capital and Railway funds

(3) Capital, Railway funds and SF

(4) Capital, Railway Funds, SF and RRSK

qeiiora 37eqera & forw faferaror ormr & fomaar amant
#F e frd-aw dwy fopar smar &

(1) g
(2) g 3T Yo @At

(3) 4att, Y&ra farferar 3iw |@van fafy
(4) 930, Yora ferferar, e @i i . id.sr

[Question ID = 729][Question Description = Q29_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 2913]
2. (2) [Option ID = 2914]
3. (3) [Option ID = 2915]
4. (4) [Option ID = 2916]

Correct Answer :-
o (4) [Option ID = 2916]

The Pension Fund gets the money from

(1) Revenue earned by Railways
(2) Capital

(3) Budgetary Support

(4) Extra Budgetary Support

dorg @3T8 & 9a @l ¥ TFear &

(1) I99 T ATed HSAT ¥
(2) 9= &

(3) aITET FRIF |

(4) aSTeal @aTad @HAA @

[Question ID = 730][Question Description = Q30_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 2917]
2. (2) [Option ID = 2918]
3. (3) [Option ID = 2919]
4. (4) [Option ID = 2920]

Correct Answer :-
e (1) [Option ID = 2917]



31 An item of work, connected with the main work, can
be added to the estimate through

(1) Revised Estimate

(2) Detailed Estimate

(3) Supplementary Estimate
(4) Completion Estimate

forell wFdea H AT T § 3N I BIS Y
&1 Ac Ty WFHaa U AT AT FhdT &

(1) FAMTAT TTFd oA
(2) favqa urg@mea
(3) &P UTFDIT
(4) GHTTGT UTFdol
[Question ID = 731][Question Description = Q31_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 2921]
2. (2) [Option ID = 2922]
3. (3) [Option ID = 2923]
4. (4) [Option ID = 2924]

Correct Answer :-
e (3) [Option ID = 2923]

Post project appraisal is done through

(1) Productivity test

(2) ROR

(3) Financial Justification
(4) All of the above

g4 IRIISAT JFTiaa fohas g fear Jrar &

(1) ScarGehdr GLI&ToT
(2) uTaHe T

(3) Ttz 3itferew
(4) =8 T gt

[Question ID = 732][Question Description = Q32_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 2925]
2. (2) [Option ID = 2926]
3. (3) [Option ID = 2927]
4. (4) [Option ID = 2928]

Correct Answer :-
e (1) [Option ID = 2925]

Two packet tendering system is adopied in case of

(1) Single Tender
(2) Open Tender
(3) Limited Tender
(4) All of the above

frm us & AHAS F o Uoe S usfa HuaATE ey &

(1) Tha &faer
(2) Gt ferferer
(3) @ifdra &faer
(4) 398 @ @l

[Question ID = 733][Question Description = Q33_AFA_PA_NAIRJUNE23]



1. (1) [Option ID = 2929]
2. (2) [Option ID = 2930]
3. (3) [Option ID = 2931]
4. (4) [Option ID = 2932]

Correct Answer :-
e (2) [Option ID = 2930]

Pre-vetting of Tender schedule is necessary for

(1) Works where Detailed Estimate has not yet prepared
(2) Works of urgent nature

(3) PB items

(4) All of the above

ST HIHET A Tgel & TISET ST e e BT

(1) T @H 8l fardd Ugadad 31 J& aa uram &
(2) g wrHE S dfucFg FUT FTA @

(3) ™® g& HAgT & ¥

(4) 39HF ¥ T

[Question ID = 734][Question Description = Q34_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 2933]
2. (2) [Option ID = 2934]
3. (3) [Option ID = 2935]
4. (4) [Option ID = 2936]

Correct Answer :-
® (1) [Option ID = 2933]

Lumpsum provision in the Pink Book can be
utilized for specific category of works costing up
to Rs. 2.5 Crores, is called

(1) Pink Book items
(2) Umbrella works
(3) Lumpsum works
(4) None of the above

e g H Topd 910 Udh-Hed UTayTa & Al 2.5 HUS b &
forfdre vt & wFAT & ™ sy fHar F1 FHar &, FEATar
&

(1) i g &A1 =/
(2) oalr @rd

(3) TH-JT HTH
(4) 5 @ AT T

[Question ID = 735][Question Description = Q35_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 2937]
2. (2) [Option ID = 2938]
3. (3) [Option ID = 2939]
4. (4) [Option ID = 2940]

Correct Answer :-
® (2) [Option ID = 2938]



36)
Relaxation of eligibility criteria in Tenders can be done with

(1) PFA’s concurrence and GM's approval

(2) FA/G's concurrence and AGM's approval

(3) Sr. DFM's concurrence and DRM's approval

(4) Associate Finance concurrence and approval of Tender
inviting authority

@l F UrAar AUES A AAT A Te & S FhdT &

(1) ware fadg gengwy &7 FeAfT T Fguayd &

HAAIGT

(2) Trgaafa/arareg & geafa T JuT FEvays &
AT &

(3) afy. @Izw Tag vaus & geaAfa 3T A= IT UaUsd &
AT

(4) Fag fafig gameaR & FeAtd 3R SH HT0
aifsil & gHAGa &

[Question ID = 736][Question Description = Q36_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 2941]
2. (2) [Option ID = 2942]
3. (3) [Option ID = 2943]
4. (4) [Option ID = 2944]

Correct Answer :-
e (1) [Option ID = 2941]

Powers to dispense with tenders and accept
quotation for works valuing Rs. 10 lakhs rests with

(1) GM
(2) PHOD
(3) HOD
(4) JAG

E3T &I BITHY 10 TG TUT TP & BICAT B HR dLad B
afew forgs arw 2

(1) ASTUSYGDH

(2) U TaumeneTss

(3) fararmeTreTey

(4) ST WRITHTEE AT

[Question ID = 737][Question Description = Q37_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 2945]
2. (2) [Option ID = 2946]
3. (3) [Option ID = 2947]
4. (4) [Option ID = 2948]

Correct Answer :- Deleted



38)
Charges levied to cover cost of tools and plant and
establishment supervision in deposit works
estimates are called

(1) Supervision charges
(2) Departmental charges
(3) One time charges

(4) None of the above

o8 gt & urdeed # AN g 99 AT TYTgAT
THALoT &7 T9g e & T Y 91 FImgr Fvar g,
FHedATdr &

(1) THILOT AT
(2) faaraftr &y
(3) TH-GIX 9 aTell JIX

(4) 3a9HF © B FqE

[Question ID = 738][Question Description = Q38_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 2949]
2. (2) [Option ID = 2950]
3. (3) [Option ID = 2951]
4. (4) [Option ID = 2952]

Correct Answer :-
® (2) [Option ID = 2950]

Contractis placed to promote indigenous
development of new technology /techniques are
known as

(1) Experimental orders
(2) Development orders
(3) Indigenous order
(4) None of these

S UrmTarhr o1 aoers & ot ey o aerar &F
& fore fopw STey arer gEy & Fed ¥

(1) ur=ifare ameer
(2) Taewra AU

(3) Tacelt 3

(4) 5H T I3 AG

[Question ID = 739][Question Description = Q39_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 2953]
2. (2) [Option ID = 2954]
3. (3) [Option ID = 2955]
4. (4) [Option ID = 2956]

Correct Answer :-
e (2) [Option ID = 2954]



40)
How much percentage of contract value that can be paid to
the contractor as mobilization Advance

(1) 5%
(2) 10%
(3) 15%
(4) 20%

fordl SR @ THAG HIUH F T F 56 FHeF @ fovaar
ufaera fear s war &

(1) 5%
(2) 10%
(3) 15%
(4) 20%

[Question ID = 740][Question Description = Q40_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 2957]
2. (2) [Option ID = 2958]
3. (3) [Option ID = 2959]
4. (4) [Option ID = 2960]

Correct Answer :-
e (2) [Option ID = 2958]

Variation beyond 150% of the contract value requires the
sanction of

(1) Railway Board

(2) GM

(3) PHOD

(4) Tender Accepting Authority

5% AT H e g 150% ¥ HAF gfgda & fow forgdhr
Trpfa amaeT® &

(1) &a ars

(2) FEIUAYSH

(3) T TIHEITETET

(4) TTaeT FIGR & arem WITIanTr

[Question ID = 741][Question Description = Q41_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 2961]
2. (2) [Option ID = 2962]
3. (3) [Option ID = 2963]
4. (4) [Option ID = 2964]

Correct Answer :-
e (2) [Option ID = 2962]



42)

Revocation of termination of contract is possible

(1) With approval of Accepting authority

(2) With T.C. recommendations

(3) With approval of one step above the accepting authority
(4) With the approval of GM treating it as single tender

& ToAT 71T & @ AT 99T AT §HT &

(1) TNFT FF arel WiHT F g &

(2) fofaer wfafa & Ewfer @

(3) THHIT oA aTol WMAFN T TP 35 W & JTIFH
wigla ¥

(4) Tohar HiaEr H € AT §T ATUEYS H FTAHiT F

[Question ID = 742][Question Description = Q42_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 2965]
2. (2) [Option ID = 2966]
3. (3) [Option ID = 2967]
4. (4) [Option ID = 2968]

Correct Answer :-
® (4) [Option ID = 2968]

Approval powers for appointment of Arbitrator rests with

(1) GM

(2) AGM

(3) PHOD

(4) All of the above

ey & Tgie ova & ufts fows ow adr @

(1) HETTAYH

(2) W ATATTH
(3) wTe TaraTImeTaT
(4) 398 & goft

[Question ID = 743][Question Description = Q43_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 2969]
2. (2) [Option ID = 2970]
3. (3) [Option ID = 2971]
4. (4) [Option ID = 2972]

Correct Answer :- Deleted



44)
AMC with OEM/Authorized dealer can be approved by

(1) PHOD

(2) GM/AGM

(3) DRM

(4) All of the above

3.3, 7R/ FfUPT TaHT & Y arfdd I@ITTT SHT HI HI
TargpTa rad a1 & AT FHAT &

(1) T TIHTITEITET

(2) AETUGYS/ 37T HETUGUD
(3) #FsH I Ta9UH
(4) sad gt

[Question ID = 744][Question Description = Q44_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 2973]

2. (2) [Option ID = 2974]

3. (3) [Option ID = 2975]

4. (4) [Option ID = 2976]

Correct Answer :-

° (4) [Option ID = 2976]

Cost of Tools & Plant worth Rs.10 lakhs can be charged to

(1) Capital
(2) DF

(3) DRF

(4) Revenue

10 ATE TIF & & =0T T o3 & 9ifia foar ST g@ar €

(1) gt

(2) g Tt

(3) AT a1 ITaId iy
(4) =TT

[Question ID = 745][Question Description = Q45_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 2977]
2. (2) [Option ID = 2978]
3. (3) [Option ID = 2979]
4. (4) [Option ID = 2980]

Correct Answer :-
® (4) [Option ID = 2980]



46)

In SOP, if there is no mention regarding finance concurrence,
then it means

(1) Finance concurrence is not required

(2) Finance concurrence is required

(3) Executive can decide on Finance concurrence
(4) None of these

39 AT AT AT g HT F opdT 75 o oty weRfa & a7 g&
FEr forwr &, a s AT &

(1) for faste geafa i smawsar 96 &
(2) fashg geafa smawaw &
(3) BrauTeras Terdra gEAfY & a1y #F fFor oo

(4) 3H | @B T

[Question ID = 746][Question Description = Q46_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 2981]
2. (2) [Option ID = 2982]
3. (3) [Option ID = 2983]
4. (4) [Option ID = 2984]

Correct Answer :-
e (2) [Option ID = 2982]

GM can sanction air travel on duty up to which level officer/staff

(1) JAG

(2) Sr. Scale

(3) Jr. Scale

(4) Sr. Supervisor

HEWEUH g gars arar A Tdpia g Al g@ &
B /FeTE o T & S Fhdr

(1) FAferax uArETaTE I3
(2) MfF=Tx T

(3) Aferax o

(4) alte gorars=it

[Question ID = 747][Question Description = Q47_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 2985]
2. (2) [Option ID = 2986]
3. (3) [Option ID = 2987]
4. (4) [Option ID = 2988]

Correct Answer :-
® (3) [Option ID = 2987]



48)
Reconnaissance Survey is done for

(1) Close Estimation and Probable cost of the project
(2) Estimation of Traffic Projections

(3) Determining technical feasibility

(4) Selecting alignment feasibility

T G 4701 Torg 1H o Torw fpgr smar g

(1) FAF qargaTa 3T gfvarsanr & garfag g @ared &
farw

(2) TnaTETd WEHT SFATAT S MFSeE Bl & oI

(3) TPTH cTgEAT 5T & forw

(4) WY@ &Y eFgeErdar gaa & e

[Question ID = 748][Question Description = Q48_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 2989]

2. (2) [Option ID = 2990]

3. (3) [Option ID = 2991]

4. (4) [Option ID = 2992]

Correct Answer :-

e (3) [Option ID = 2991]

Cost of furniture required for new work is charged to

(1) Same Plan Head to which the main work is charged
(2) Other specified work

(3) Revenue

(4) None of the above

ferdT 78 1Y o ToIT 3TaeT e Ba g thi o1aTd H1Ted arefy

(1) 35 ofxarsar e & fSgd geg ord afiig &
(2) 3= Tafaféy o &

(3) T=TET

(4) 3H & P13 LS

[Question ID = 749][Question Description = Q49_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 2993]
2. (2) [Option ID = 2994]
3. (3) [Option ID = 2995]
4. (4) [Option ID = 2996]

Correct Answer :-
e (1) [Option ID = 2993]



50)
The object of completion Report is

(1) To know the actual cost of the work

(2) To compare actual cost with sanctioned cost &
regularize the same

(3) To close the accounts of the work

(4) None of these

FATTS U aaia o1 3297 &

(1) B & T AT FTAAT

(2) ThEa 979 ¥ TN oI P JgAAT ®Iar AT 3/
Aafda &xar

(3) BTH &1 Wrdr d¢ HIAT

(4) 3H § D3 7L

[Question ID = 750][Question Description = Q50_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 2997]
2. (2) [Option ID = 2998]
3. (3) [Option ID = 2999]
4. (4) [Option ID = 3000]

Correct Answer :-
® (2) [Option ID = 2998]

Improvement in water supply at stations for loco traffic purpose
is a

(1) Labour Welfare works

(2) Unremunerative Project for Improvement of operational
efficiency

(3) Passenger Amenity

(4) None of the above

o TraraTg & o wetst W o gfa # guR & ord @

(1) #THE HeoT HF

(2) ofaTee wIEETHAT F UK B FAHF giI@rSTar
(3) T giawr

(4) 35H & PIS Tq&

[Question ID = 751][Question Description = Q51_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3001]
2. (2) [Option ID = 3002]
3. (3) [Option ID = 3003]
4. (4) [Option ID = 3004]

Correct Answer :-
e (2) [Option ID = 3002]



52)
Cost of an asset transferred from construction to open line
should be

(1) Written back

(2) No action required

(3) Charged to Development Fund
(4) None of the above

sg uRgofy f@ator fawer @ 9re] 91sa & gTaraia ardl
g, O uftgufa & o199 & 1Y FIT HLAT AT

(1) 9ET @I # SAlsar OifeT
(2) freh drars & FTw™T Ta
(3) fammrw &f gy wfta @aT arfew
(4) sFH | IS FE
[Question ID = 752][Question Description = Q52_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3005]
2. (2) [Option ID = 3006]
3.3

)
(3) [Option ID = 3007]
4. (4) [Option ID = 3008]

Correct Answer :-
e (1) [Option ID = 3005]

The scrap value of a rail is what percentage of cost of new rail

(1) 30%
(2) 40%
(3) 50%
(4) 60%

et gl & T ATA-Hed, 7% gl O oI o fohaer uia
e g

(1) 30%
(2) 40%
(3) 50%
(4) 60%

[Question ID = 753][Question Description = Q53_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3009]
2. (2) [Option ID = 3010]
3. (3) [Option ID = 3011]
4. (4) [Option ID = 3012]

Correct Answer :-
® (2) [Option ID = 3010]



54)
The original cost of abandoned work will be written back to

(1) Development Fund

(2) Remaining at debit of Capital
(3) Revenue

(4) None of the above

otz e aTw w1 & Jg@ Id & g @ # SE
ST

(1) famrg &

(2) 4= & 3foe & duw
(3) T=ET

(4) 39 @ FIF Fel

[Question ID = 754][Question Description = Q54_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3013]
2. (2) [Option ID = 3014]
3. (3) [Option ID = 3015]
4. (4) [Option ID = 3016]

Correct Answer :-

® (2) [Option ID = 3014]

Permission granted for limited use of Railway land is called

(1) Licensing of land
(2) Leasing of land
(3) Way leave facility
(4) None of the above

Wy & FAG B FT HiFHG SR HeA D HeIAQ UG DI
I ¥ 5 pea

(1) qf3r @ EF UT &ar
(2) §f3r @ gge ux gar

(3) TEAT BISH &1 grayr gar
(4) 39 @ TS TN

[Question ID = 755][Question Description = Q55_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3017]
2. (2) [Option ID = 3018]
3. (3) [Option ID = 3019]
4. (4) [Option ID = 3020]

Correct Answer :-
e (3) [Option ID = 3019]



56
) For claiming CTG, transferee/retirees need to submit the

documents.

(1) Proof of change of residence

(2) Proof of journey

(3) Both the mentioned documents

(4) Any one of the mentioned documents

TI® TATATTR Aegalea & gId & fore, dgeit foew 1w =7
¥ar &g §¢ AN B TS GEATAS AT HIAT B9

(1) 3TIIY g ATed &1 I

(2) 3T T A1 FT T

(3) AT (T gl GEATE=T

(4) IdTT T gl JA T P TH gEAASA

[Question ID = 756][Question Description = Q56_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3021]
2. (2) [Option ID = 3022]
3. (3) [Option ID = 3023]
4. (4) [Option ID = 3024]

Correct Answer :-
e (2) [Option ID = 3022]

The Internal checks of TA Bills involves checking

(1) The controlling officer has signed the TA
journals and the object of the Journey is
mentioned and is in the interest of
administration
(2) The timings of arrival and departure of trains
from HQrs needs to counter checked with time
table
(3) The actual distance travelled is more than 8 kms from
H Qrs.
(4) All the above

T 3 D el H 3TaNE S g THT SEAT AT &

(1) fTga® HTQ@ & IET 9T AT g 9T FEATET
g &, S9A I &1 33y forEr g & 3T a8
UATHS & Ea H @

(2) ATITAIT § YA & AT AT F1 & THT B
FHIT-FION § fBrara owar arfee

(3) a7 #it 72 Y ATATAT ¥ 8 forat & Hfawm gy et

(4) 35 & THlr

[Question ID = 757][Question Description = Q57_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3025]
2. (2) [Option ID = 3026]
3. (3) [Option ID = 3027]
4. (4) [Option ID = 3028]

Correct Answer :-
® (4) [Option ID = 3028]



58)

With respect to the quantum of DA admissible to
employees based on absence from HQrs, which
is not correct?

(1) Less than 6 hrs -- 30% of DA.

(2) More than 6 hrs but less than 12 hrs -- 70% of DA.
(3) More than 12 hrs/each completed day-- 100% of DA.
(4) Less than 6 hrs-- 50% of DA.

ATATT § HFIEYT T & HUR 9T FHEarfigt ot fmaar
e 9ar AT @, 5§ ey F ol 91 o¥F Ted 2

(1) 6°¢ ¥ &H - 30% cfade HaT
(2) 6T ¥ IYF AW 12 ¢ T &H - 70% Sfad Har
(3)12 8¢ & #UwH/ & qur fea - 100% Sfas sam
(4) 6EE ¥ &H - 50% &fas Har

[Question ID = 758][Question Description = Q58_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3029]
2. (2) [Option ID = 3030]
3. (3) [Option ID = 3031]
4. (4) [Option ID = 3032]

Correct Answer :-
® (4) [Option ID = 3032]

W.ef. 1.7. 2017 Dress allowance is credited
directly to the salary of the entitled employees

(1) Twice in a year the months of January and July

(2) Thrice in a year in the months of March, September and
December

(3) Once in a year in the month of January

(4) Once in a year in the month of July

e 1.7.2017 § A9 ALY T AN & TH HAOT DY 395
Ige @Y # Fde o7 T A ¥

(1) a¥ & g g, Saad 3 Jas 789 A

(2) a8 & fra g, #@rd, faFar 3T Gurar #da &
(3) a9 & vH T, FIad AT H

(4) a8 & v IR, FA1$ FAS F

[Question ID = 759][Question Description = Q59_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3033]
2. (2) [Option ID = 3034]
3. (3) [Option ID = 3035]
4. (4) [Option ID = 3036]

Correct Answer :-
® (4) [Option ID = 3036]



60)
Scale Check Registers are maintained at which office?

(1) Accounts Office
(2) Pay Bill units
(3) Both above

(4) None of these

JTAHTH AT TeTEST T TWIEI v g FraTaT F forgr Frar

(1) oIGET BIATHTT

(2) goTaTe Tt s
(3) arat SAaTE

(4) 351 @ I ALl

[Question ID = 760][Question Description = Q60_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3037]
2. (2) [Option ID = 3038]
3. (3) [Option ID = 3039]
4. (4) [Option ID = 3040]

Correct Answer :-
e (1) [Option ID = 3037]

A balance of at least days of leave on Average
Pay should be available to the credit in leave
account after taking into account the period of
encashment as well as the leave availed of

(1) 10
(2) 40
(3) 20
(4) 30

oicedl & admcIdor &r Jafa 3T g gedt & a1 b §,
3c¢ HEATe 3 ofd §U [hHT BATN & Qecl WTd # BH § BH -~
&t o1 taa aaa waw A9 AT Afew

(1) 10
(2) 40
(3) 20
(4) 30

[Question ID = 761][Question Description = Q61_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3041]
2. (2) [Option ID = 3042]
3. (3) [Option ID = 3043]
4. (4) [Option ID = 3044]

Correct Answer :-
® (4) [Option ID = 3044]



62)

The cash equivalent of encashment of Leave is
calculated on the Pay and DA as on the date of _

(1) Availing the pass
(2) Availing leave
(3) None of these
(4) Both of these

Decl & ADhaIhol th aua TR hY aro1aT vy e a
Fadaga AT AT s Tma g HIramar e

(1) =g fea otg &1 o1y 387391 &l
(2) 5w Ragedraha

(3) 3TH ¥ B AL

(4) & FaraT

[Question ID = 762][Question Description = Q62_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3045]

2. (2) [Option ID = 3046]

3. (3) [Option ID = 3047]

4. (4) [Option ID = 3048]

Correct Answer :-

e (1) [Option ID = 3045]

The amount of reimbursement of CEA in respect of
differently abled children

(1) Same as the amount admissible to normal children
(2) Double the amount admissible to normal children
(3) Triple the amount admissible to normal children

(4) None of these

T UK ¥ HETH I=di & AHS & arar TOe7o7 9ar & fohger i
e & ST

(1) 3a=T & ToadT Fraer aat & ATHS & ST &
(2) FrYrYor FEAT AT T TR F I

(3) FIUIROT a=aT &F &F A F A AT

(4) 3aH F HI$ A&

[Question ID = 763][Question Description = Q63_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3049]
2. (2) [Option ID = 3050]
3. (3) [Option ID = 3051]
4. (4) [Option ID = 3052]

Correct Answer :-
e (2) [Option ID = 3050]



64)
Transport allowance during training treated as Duty may be
granted if

(1) No transport facility /Travelling allowance
/Daily allowance is provided for attending
the training institute

(2) Grant of Transport allowance is not related
to provision of Transport facility/ Traveling
allowance/Daily allowance for attending
training institute

(3) Only if Transport facility/Travelling
allowance/Daily allowance is provided for
attending the training institute

(4) None of the above

TRNETOT & SR aTeet 7T &Y 3L HIeAd §U [T ST Hebedl &, 3T
(1) wiRreTor HEATA YgHe & U DS aree
& grayar/grar g9y efas war @ fgar
T @
(2) AES HAT UETT @ @7 Fay, qfreyor
GEATA ggae & fore arga & gRaar/grEr
o=/ &fFe war, @ a6 @
(3) Bas TT FT UIALOT FEATH ggad & forw
ares & graar/arar s=y EfEe war g
AT &

(4) 3AH & DS FE

[Question ID = 764][Question Description = Q64_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3053]
2. (2) [Option ID = 3054]
3. (3) [Option ID = 3055]
4. (4) [Option ID = 3056]

Correct Answer :-
e (1) [Option ID = 3053]

W.e.f 1.7.2017 risk and hardship allowance is admissible for

(1) All the categories for level 8 and below and level 9 and
above

(2) The category of only Track maintainers

(3) All the categories other than Track maintainers

(4) None of these

feais 1.07.2017 ¥ forag sva=ieat & faw ifA va o 97
AT T

(1) g 8 3T 38H A vd g 9 HT 3TF FUT & FAAINET
Gl

(2) Faw TefEl & ITWIEE ¥ I3 FAANRET Bl

(3) gefral & I@IWTT HI aral B SIZHT arhr g I

(4) 3H A IS el

[Question ID = 765][Question Description = Q65_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3057]
2. (2) [Option ID = 3058]
3. (3) [Option ID = 3059]
4. (4) [Option ID = 3060]

Correct Answer :-
e (2) [Option ID = 3058]



Account Current pertaining to Coaching and Goods traffic is a statement prepared monthly showing.

(1) Account showing the monthly earnings of Coaching & Goods

(2) Account showing the monthly expenditure of Capital & Revenue

(3) Account showing the monthly Excess/Shortfall of both earnings &expenditure compared with Budge
grant

(4) None of these

F=AT AT /A ATAATE H OS[ST AT @17 U R/iEs qare f@ar oy fEae g &1 goiar @

(1) FI=ET T AT T FA ATAT HIEH ATHIAT FT AT
(2) a8 @@ oOH Wi 9 Ud 9SO @F (R S g
(3) @7 T FoaH a5z dq= At AT § el S @ 240 w0 9w wmr/ 9o R smar 2
(4) =98 7 FT BT
[Question ID = 766][Question Description = Q66_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3061]
2. (2) [Option ID = 3062]
3. (3) [Option ID = 3063]
4. (4) [Option ID = 3064]

Correct Answer :-
e (1) [Option ID = 3061]

Traffic cash received otherwise than through
station balance sheet is incorporated in
accounts through

(1) Traffic Cash Check sheet

(2) Abstract Daily/ Monthly Cash Book
(3) Accounts Office Balance sheet

(4) General Cash Book

ITATATd Uehs Ad TEAF Ja-99 & ACIH & ¢ u1g
grar, ar 38 o@r # fegd g ge foear arar

(1) ITaTaTad Aos A= e

(2) & /AT THs T& & FIUA
(3) @l HTATAT FAT-IF

(4) FTHATET Uz Ter

[Question ID = 767][Question Description = Q67_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3065]

2. (2) [Option ID = 3066]

3. (3) [Option ID = 3067]

4. (4) [Option ID = 3068]

Correct Answer :-

e (3) [Option ID = 3067]



68)
Traffic which passes over a railway but

neither originates nor terminates on that railway
is called for that railway

(1) Traffic not pertains to that Railway
(2) Mixed ftraffic

(3) Preferential traffic

(4) Cross traffic

Fg @ I feEr T § AT &, HIR F 4a g8 Uy
g 8 ;T a & wArtE g3 ®, a1 9% 3 Y9 & fov Fa
dEATc &

(1) 39 ¥&d ¥ JyHdAfad et
(2) Fen-ger efths

(3) TFAT ueTd ¢Rw

(4) = arenm e

[Question ID = 768][Question Description = Q68_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3069]
2. (2) [Option ID = 3070]
3. (3) [Option ID = 3071]
4. (4) [Option ID = 3072]

Correct Answer :-
e (4) [Option ID = 3072]

What is Non Issued ticket?

(1) ticket which is not accounted in UTS/PRS system
(2) A Journey ticket which passenger

surrendering for Non-performance of his

journey
(3) Ticket issued to the passenger but cancelled on

the following ticket because of operator's mistake
(4) None of these

a1 a7 o a7 fewde a1 9 &7

(1) 38 fewve s gdow a1 fram.ey ufded & @& J3 a0
3

(2) e TmEr o fee 5w fordt anh & 3 &40
& U & god dig eI &

(3) Il o Twe ST fRar oA, IR *we @ed
arel &Y TAAT ¥ AT RHe T Bl AT

(4) 3678 § WS F@E

[Question ID = 769][Question Description = Q69_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3073]
2. (2) [Option ID = 3074]
3. (3) [Option ID = 3075]
4. (4) [Option ID = 3076]

Correct Answer :-
® (3) [Option ID = 3075]



70)
Opening balance of the station balance sheet of a month will be

(1) Station Imprest Cash Balance of previous month

(2) R Notes balance not acknowledged by Cash Office
(3) Closing balance of previous month

(4) Admitted & Disputed debits balance of previous month

fordY FET & TeUA JAT-UF @l JAYAY &

(1) IS TG B TEAT HISTT VD3 AT
(2) NPs AIITIAT AT UWOT Al AT &Y qrfFy HEATHIT HIAT

(3) o #EF @1 sfa o
(4) Too 7 & Tdigd va fared ars

[Question ID = 770][Question Description = Q70_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3077]
2. (2) [Option ID = 3078]
3. (3) [Option ID = 3079]
4. (4) [Option ID = 3080]

Correct Answer :-

® (3) [Option ID = 3079]

The following is the dummy entry in station balance sheet

(1) Outward Paid
(2) Inward Paid

(3) Inward To-Pay
(4) Siding Charges

farafafla d @ ofd TEaa gaad-u3 i v ddd Uiy
grer @

(1) STTgs 91T &
(2) 3Tg®H ST &F
(3) 3mas WTET &F
(4) AIEET gaR

[Question ID = 771][Question Description = Q71_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3081]
2. (2) [Option ID = 3082]
3. (3) [Option ID = 3083]
4. (4) [Option ID = 3084]

Correct Answer :-
e (2) [Option ID = 3082]



72)

DTC (Daily Trains cash cum summary book) maintained by

(1) Commercial Inspector

(2) Station Master

(3) Divisional Commercial Office
(4) Train Clerk

AT (Efa® IFMET UFHs-Fe TR Qreddr) & (EIWd did
Gire i

(1) arforsT fadiers

(2) TEUA HATEET

(3) HSA AT FTATAT
(4) IS IS

[Question ID = 772][Question Description = Q72_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3085]
2. (2) [Option ID = 3086]
3. (3) [Option ID = 3087]
4. (4) [Option ID = 3088]

Correct Answer :-
® (2) [Option ID = 3086]

Quarterly season ticket is how many times of monthly season
tickets

(1) 3.0
(2) 2.7
(3)2.5
(4)2.3

Fataes diaa Tae A1fds fiaa fewe & faar qar @arg?

(1) 3.0
(2) 2.7
(3)2.5
(4) 2.3

[Question ID = 773][Question Description = Q73_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3089]
2. (2) [Option ID = 3090]
3. (3) [Option ID = 3091]
4. (4) [Option ID = 3092]

Correct Answer :-
e (2) [Option ID = 3090]



74)

Alpha Code available on the top portion of the UTS ticket
denotes

(1) Security code

(2) Number of tickets issued in the counter
(3) Gross & Net Cash available with counter
(4) vouchers available with counter

ghew fewe & sull #ror F AGg 3w Bz FAT AT @

(1) TRem Fs

(2) B3 ¥ o fopr oo fewet & @ar

(3) B3I UT 3UAY HEHA dAde HIT Y& dda
(4) BI3ET GX 39eeY AT3AT

[Question ID = 774][Question Description = Q74_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3093]

2. (2) [Option ID = 3094]

3. (3) [Option ID = 3095]

4. (4) [Option ID = 3096]

Correct Answer :-

e (3) [Option ID = 3095]

Part A of the traffic book posted from

(1) Station balance sheets

(2) Accounts Office Balance sheets

(3) JTBS Balance sheets

(4) Figures certified by Internal check sections

IATHTT IET & WA ‘R A el ¥ HhS T AT &

(1) T&U JAT-9F

(2) 9@T FTATAT TAT-UF

(3) SETNTH gaa-93

(4) 3Tafs 1T FFUF g0 AT 3THS

[Question ID = 775][Question Description = Q75_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3097]
2. (2) [Option ID = 3098]
3. (3) [Option ID = 3099]
4. (4) [Option ID = 3100]

Correct Answer :-
e (1) [Option ID = 3097]



76)

JTBS stands for

(1) Journey Ticket Booking System

(2) Journey Travel Booking System

(3) Jan Sadharan Ticket Booking Sewak
(4) None of these

F. Aoy & faear e

(1) et Tewpe give Reea

(2) Ft gaa giwar rew

(3) 97 WIYWUT Teawhe githe da®
(4) 3aH ¥ P A&l

[Question ID = 776][Question Description = Q76_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3101]
2. (2) [Option ID = 3102]
3. (3) [Option ID = 3103]
4. (4) [Option ID = 3104]

Correct Answer :-
® (3) [Option ID = 3103]

Disputed/not admitted debits are withdrawn through

(1) Remission Order

(2) Credit advice note

(3) Refund Order

(4) Certified Over Charge sheet

Frarfga/ srdiga 3T frad g o ferar smar &

(1) &# HEYU

(2) ®fzT amgr AT

(3) frthz g

(4) Trsi-2fre g1 uaoTa

[Question ID = 777][Question Description = Q77_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3105]
2. (2) [Option ID = 3106]
3. (3) [Option ID = 3107]
4. (4) [Option ID = 3108]

Correct Answer :-
® (2) [Option ID = 3106]



78)

Brown field Private Freight Terminal (PFT) is

(1) A newly developed PFT

(2) Existing siding converted to PFT
(3) Railway Goods shed leased fo Private entity
(4) None of these

TEa Bres' @S #@re g (@ae) 2

(1) s a1 fawfaa F3.ane

(2) queT wrsfEer o . @ne &F agen am9m &

(3) T o -z S fmdr &S s & g ox g
)

(4) 39 § DS Tl

[Question ID = 778][Question Description = Q78_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3109]
2. (2) [Option ID = 3110]
3. (3) [Option ID = 3111]
4. (4) [Option ID = 3112]

Correct Answer :-
® (2) [Option ID = 3110]

The following earnings not accounted in Station Balance sheet

(1) EFT earnings

(2) Season ticket earnings

(3) Postal Earnings

(4) Military tickets on concession

farafofaa sragfadt & ¥ fow weua gaa-u7 F & forar
ATETE

(1) afafes feuar feae sraesh
(2) ®@rsta fewme mEEAT

(3) 3T AT

(4) Tt 5T W d=7 fTae

[Question ID = 779][Question Description = Q79_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3113]
2. (2) [Option ID = 3114]
3. (3) [Option ID = 3115]
4. (4) [Option ID = 3116]

Correct Answer :-
e (3) [Option ID = 3115]



80)

Traffic check sheet amount prepared by cash
office becomes debit to the following suspense
head

(1) Revenue heads X, Y, Z

(2) Remittance into Bank

(3) Reserve Bank Suspense

(4) Public Sector Bank Suspense

UH3 HAT U IR A §F I@Tad Ah-
efre &1 ofdr faFaferiaa s9a9 T & sfae o
AT @

(1) T=teg T X, v, Z
(2) & H ugor

(3) tsrd % 39a

(4) graafas &89 d@ 399

[Question ID = 780][Question Description = Q80_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3117]
2. (2) [Option ID = 3118]
3. (3) [Option ID = 3119]
4. (4) [Option ID = 3120]

Correct Answer :-
® (2) [Option ID = 3118]

Defence and postal dues are cleared by

(1) RBI book adjustment

(2) Payment through cheque
(3) NEFT/RTGS

(4) On line clearance

T8 3T 31p TIHTaT & THTAT BT FAIRMYIS fepgan grT aran &

(1) od 8 & g gATAET |
(2) TP EIU JITdTA &

(3) TS TH I AR SN.TH A
(4) 3ta-arsa FARRNGT &

[Question ID = 781][Question Description = Q81_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3121]
2. (2) [Option ID = 3122]
3. (3) [Option ID = 3123]
4. (4) [Option ID = 3124]

Correct Answer :-
e (1) [Option ID = 3121]



82)
Excess Fare Ticket (EFT) consists of how many foils.

(1) 2 Foils (Passenger & Record)

(2) 3 Foils (Accounts, Passenger & Record)

(3) 4 Foils (Accounts, Passenger, Invoice & Record

(4) 5 Foils (Accounts, Passenger, Invoice, Transit & Record)

sfafes frorar feoe 3 frger ottt o &

(1) 2 gfetar (@ 3% frars)

(2) 3 ufthaT (aram, I 3T )

(3) 4 gfetat (s, ars, dise 34T frs)

(4) 5 TfetaT (erar, I, s, Tifere 30T @)

[Question ID = 782][Question Description = Q82_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3125]
2. (2) [Option ID = 3126]
3. (3) [Option ID = 3127]
4. (4) [Option ID = 3128]

Correct Answer :-
e (2) [Option ID = 3126]

Station Balance Sheet is the personal accounts of

(1) Station Master

(2) DCM

(3) ACM.

(4) Commercial Inspector or CMI

TEUF T -uA formant cafwmora or@r erar 82

(1) FEAH HIFET

(2)#.ar.u

(3) 9. a1 u.

(4) arforsg srefrers ar @r.oH.3E

[Question ID = 783][Question Description = Q83_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3129]
2. (2) [Option ID = 3130]
3. (3) [Option ID = 3131]
4. (4) [Option ID = 3132]

Correct Answer :-
e (1) [Option ID = 3129]



84)

The following earnings are not to be apportioned

(1) Passenger earnings
(2) Demurrage

(3) Goods earnings

(4) Parcel earnings

AT &Y 75 ASTHIAT # U forger gfaursa &5 forar Srar €72

(1) ITET 3TAGET
(2) faerFa Yes
(3) AT 3TASHT
(4) UTHS ITHEAT

[Question ID = 784][Question Description = Q84_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3133]

2. (2) [Option ID = 3134]

3. (3) [Option ID = 3135]

4. (4) [Option ID = 3136]

Correct Answer :-

e (2) [Option ID = 3134]

The following is not a component of Traffic Suspense

(1) Stations Outstandings
(2) AOB outstanding

(3) Cash in Transit

(4) Bills Recoverable

FAH | Did ATATATT 39d & GTh del 67

(1) TCUF F@TAT
(2) H.P1.. THTAT
(3) ATAEY TP
(4) ageh T e

[Question ID = 785][Question Description = Q85_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3137]
2. (2) [Option ID = 3138]
3. (3) [Option ID = 3139]
4. (4) [Option ID = 3140]

Correct Answer :-
o (4) [Option ID = 3140]



86)
What is the medium through which Originating eamings are monitored
continuously and concurrently with those monthly budgeted targets?

(1) 10-day statement of gross earnings
(2) Statement 6A
(3) Statement 7B
(4) Statement 7C

Pl |1 JeAH ¥ Foraes e 7 I=drg F1et & Febrerel eel arelr
RIS 3MTeEe! U F9TaR g Had &eR (@ Sdr 67

(1) 10-Feadrg goa 3EeeT @ faavor
(2) faeore @
(3) faayor 7 €t
(4) AT 7 I

[Question ID = 786][Question Description = Q86_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3141]
2. (2) [Option ID = 3142]
3. (3) [Option ID = 3143]
4. (4) [Option ID = 3144]

Correct Answer :-
e (1) [Option ID = 3141]

Assisted siding is

(1) Cost of siding is borne by Private Party

(2) Cost of the siding is borne by Private Company

(3) Cost of the siding is borne by Railways

(4) Cost of the siding shared by the railways and party

EE AR EETIES

(1) |TSZar T SAT9TT T 9 Ferait arel ot

(2) GIT3Za1 T AT &1 HT Fersh huel gTar

(3) TITSEaT T AT BT HIX LTI T &

() IS T w197 7 W fersh aref R Yo A Fereanar

[Question ID = 787][Question Description = Q87_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3145]
2. (2) [Option ID = 3146]
3. (3) [Option ID = 3147]
4. (4) [Option ID = 3148]

Correct Answer :-
® (4) [Option ID = 3148]

Percentage of concession for handicapped passenger

(1) 75%
(2) 50%
(3) 25%
(4) 80%

Terepatrer A3 ot Tobaa ufasa & Taaa & a2
(1) 75%
(2) 50%

(3) 25%
(4) 80%

[Question ID = 788][Question Description = Q88_AFA_PA_NAIRJUNE23]



1. (1) [Option ID = 3149]
2. (2) [Option ID = 3150]
3. (3) [Option ID = 3151]
4. (4) [Option ID = 3152]

Correct Answer :-
e (1) [Option ID = 3149]

Earnings are classified into how many groups

(1) 2 groups (Coaching & Goods)

(2) 4 groups (Coaching, Other Coaching, Goods & Sundry other
earnings)

(3) 3 groups (Coaching, Goods and Sundry other earnings)

(4) 1 group (Traffic/Revenue Earnings)

HTHCH! B fohcter Tagg H goffgpa forar ST &

(1) &t T (T va #ren)

(2) 4 GHG (T, 37 BT, AT, 3T Pehl HHGT)
(3) 3 TIHE (@ITAaT, AT 3R 3T Feaw HTHET)

(4) 1 THE (FTATTTARTSIET HTHCEAT)

[Question ID = 789][Question Description = Q89_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3153]

2. (2) [Option ID = 3154]

3. (3) [Option ID = 3155]

4. (4) [Option ID = 3156]

Correct Answer :-

e (3) [Option ID = 3155]

Wagon turn around means

(1) Average Time taken for loading of wagons

(2) Average Time taken for unloading of wagons

(3) Average Time taken for movement of wagons from Originating to
Destination

(4) Average Time taken by the wagon from loading to its
subsequent Loading

Frol-FEear @1 SIETe Hadd & AT &

(1) ATe-fEear & were & forw = 3itaa g5

(2) Fr-fEear | 3ag 3 on g g

(3) AT-TEeaT aRT A F I d A H FqT A\ T THT

(4) U&h TET ¥ 30T JIGTd deh ATd-T5ed gRT fordm a3 3iraa gy

[Question ID = 790][Question Description = Q90_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3157]
2. (2) [Option ID = 3158]
3. (3) [Option ID = 3159]
4. (4) [Option ID = 3160]

Correct Answer :-
® (4) [Option ID = 3160]



91)

A report by an ISA / ASV detailing procedural
irregularities in the maintenance of stock is called a

(1) Narrative Report

(2) Stock sheet

(3) Stock Verification report
(4) Stock Inspection Report

3R owr e / Tvead g & a3 gg Rud Twd w@re
& TEXEId H gl arell feaFaant & aamar aar 2

(1) args fare

(2) Torw Me

(3) TeTp HeaTua Ui
(4) Torw fafreyor frare

[Question ID = 791][Question Description = Q91_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3161]

2. (2) [Option ID = 3162]

3. (3) [Option ID = 3163]

4. (4) [Option ID = 3164]

Correct Answer :-

e (1) [Option ID = 3161]

Reverse Auction is a term used to mean

(1) Bids placed by purchaser of Railway scrap

(2) Bids placed by Railway during purchase in IREPS

(3) Bids of Railway suppliers during purchase of materials
in IREPS

(4) None of these

3¢l diciTAl &l Addd &

(1) T H WY "WlIga arel g arsiy It

(2) 3. 3RX3.9.0F &F @ligd FHT IAT & GIRT AT SMAm

(3) 3. 3R.3.H.08W F @y HQfaFaAIs T TrHedT
gl & i arelt Jammar

(4) 3T & BT T

[Question ID = 792][Question Description = Q92_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3165]
2. (2) [Option ID = 3166]
3. (3) [Option ID = 3167]
4. (4) [Option ID = 3168]

Correct Answer :-
® (3) [Option ID = 3167]



93)

When material enters Stock and the payment has yet not
been made, the accounting entry is

(1) Stock Debit, Cheques and Bills Credit

(2) Stock Debit, Bank Credit

(3) Cheques and Bills Debit, Stock Credit

(4) Stock Debit, Purchase Suspense Credit

ST WIATA FeTe # A1 a7 81 A SHPT qovara e F& gan 2,
ar erar ufafy @ar el

(1) TeTw 3foe, 9@ va foa sise
(2) TeTad sfye, I ofse

(3) 9% va faa sfae, oo oise
(4) Ta1® 3fae, mT 399 *ise

[Question ID = 793][Question Description = Q93_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3169]

2. (2) [Option ID = 3170]

3. (3) [Option ID = 3171]

4. (4) [Option ID = 3172]

Correct Answer :-

e (4) [Option ID = 3172]

Debit balance in Purchase Suspense indicates

(1) Material received but bills not paid
(2) Bills paid but material not received
(3) Either of the two options

(4) None of these

®T 394 A sfae quw FI1 fg@rar @

(1) Tt wTE B g, FOR Tae @ HITaer el A€ g T e
(2) e &1 HITaTE B AT @, AIR HAT WHM WA Té g5 &
(3) @ fameal & #F vH

(4) & & Ag e

[Question ID = 794][Question Description = Q94_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3173]
2. (2) [Option ID = 3174]
3. (3) [Option ID = 3175]
4. (4) [Option ID = 3176]

Correct Answer :-
e (2) [Option ID = 3174]



%5) In Stores budget, ‘Issues to Revenue'is linked with

(1) PU 27 of Demand 10

(2) PU 27 of all demands

(3) PU 27 of Demands 5, 6, and 7
(4) None of these

HIT goic H "UAE ol 9HE & ferges @y st AT &

(1) HT9T 10 &Y wrATH® sH15 27

(2) T3t FIa hr wrutHE sH13 27

(3) &7 5, 6, 3T 7 Fir AT IHS 27
(4) 357H § BI$ FEX

[Question ID = 795][Question Description = Q95_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3177]
2. (2) [Option ID = 3178]
3. (3) [Option ID = 3179]
4. (4) [Option ID = 3180]

Correct Answer :-
® (2) [Option ID = 3178]

To deal with Suspenses in Stores, which software would you
go to?

(1) IMMS
(2) IPAS

(3) E-Recon
(4) IREPS

HSW & STl &b ATHS & BTH DI & (o0 37T hE FTFEdHT Al
ST HY?

(1) 3T TH.THA.TY
(2) ¥TE.UTH

(3) 3-Teamter

(4) IE AR AT Tw

[Question ID = 796][Question Description = Q96_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3181]
2. (2) [Option ID = 3182]
3. (3) [Option ID = 3183]
4. (4) [Option ID = 3184]

Correct Answer :-
® (2) [Option ID = 3182]



97)
EMD exemption is given to the following categories of tenderers

(1) MSMEs registered with DIC
(2) MSMEs registered with NSIC
(3) RDSO approved firms

(4) All of these

Trafaa Efaget & aot & agrar & i 3 F3d | ge &
Sar &

(1) 39 FER, 7Y T HCTH 3TH AT T ol 3TN dg A TATPd &l

(2) &% TR, 9g T ACIH 3THA A1 VLT g 3TV oFard H
gsfrga &t

(3) U ehuferat St 3 T A gy wgAfeT &

(4)37d ¥ o

[Question ID = 797][Question Description = Q97_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3185]
2. (2) [Option ID = 3186]
3. (3) [Option ID = 3187]
4. (4) [Option ID = 3188]

Correct Answer :-
® (4) [Option ID = 3188]

If a tenderer who is L2 has Make in India certification

(1) He is awarded 50% quantity if he matches the price of L1
(2) He is awarded 50% quantity at his own rate

(3) He is awarded 100% quantity if he matches the price of L1
(4) He is awarded 100% quantity at his own rate

o3 fofagrary &t 6 L2 &, 39% uI9 319R 8% 54 sizar &1
THTOT-TF &, af

(1) 38 50% HTAT dH BT IMYT-3mg L FIT I 3197 g% 39a
Hed & L1 & aal oY of

(2) 3H 50% HATAT BT &Y SHS 3T HIT 6T gT HpT 0T
Tarerem

(3) 3H 100% HITT T &7 N -3me e FIr FrI9m 77% g8 39a
HET BT L1 & aUay HT A

(4) 3% 100% HTAT T A& 3HSF 3} B T gC Feq W
Tareram

[Question ID = 798][Question Description = Q98_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3189]
2. (2) [Option ID = 3190]
3. (3) [Option ID = 3191]
4. (4) [Option ID = 3192]

Correct Answer :-
e (1) [Option ID = 3189]



99)

Option Clause in Stores contracts enables
Railway to place an order of 30% above or
below the PO quantity

(1) Railway can enforce this quantity

(2) Supplier can request this additional quantity

(3) Railway has to take supplier’'s consent

(4) A separate negotiation has to be done for this quantity

HIX Sl A faTeu Hgede ¥ YIFT HF U
MY g T At e =rdr & fop ag &7
&Y fT ATA A 30% T IET IT T TH

(1) T TH HAFAT B A9 B FhdT &

(2) wqfdmar 3w afafe a@a & e 3gdy $37 goar @
(3) Wy @ FYfdmar ¥ AgATa e g3af

(4) 37 @1 & o sea & aadha FeEr el

[Question ID = 799][Question Description = Q99_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3193]
2. (2) [Option ID = 3194]
3. (3) [Option ID = 3195]
4. (4) [Option ID = 3196]

Correct Answer :-
e (1) [Option ID = 3193]

Direct Acceptance of tenders means

(1) Stores Officer can place order on the firm without tender

(2) Stores Officer can place order on the firm without Tender
Committee
(3) Stores Officer can place order on the firm on quotation basis

(4) Stores Officer can place order on the firm with finance
concurrence

e & 99 ®igd &g & FAdod &

(1) o717 faard far Bfaer & ol seaer o o7 3y sl
&Y Thal &

(2) =R FUF foar Aoy afafa & 5l deaar & &7
HGA A A bl &

(3) H3W HAB YT & g0 AT HFTeN I HF Y Y
T THAT &

(4) =R FOeNr faar oo meafy & fodr oo o 7Y
& AT HY Fhdl &

[Question ID = 800][Question Description = Q100_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3197]
2. (2) [Option ID = 3198]
3. (3) [Option ID = 3199]
4. (4) [Option ID = 3200]

Correct Answer :-
® (2) [Option ID = 3198]



101)
The difference between Sale Value and Book
value of a scrap item will be booked to

=

) Stock Adjustment Account
) Sundry Earning

3) Remittance into Bank

) Sales Suspense

= e

T~

TR WY Fe & Tkt 7 AT g JqFT &7 AT del g8
ZraTr

(1) T FATATSAA @l
() PehT JTHGAT

@ dF F TAT BT

@) Taehr 399

[Question ID = 801][Question Description = Q101_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3201]

2. (2) [Option ID = 3202]

3. (3) [Option ID = 3203]

4. (4) [Option ID = 3204]

Correct Answer :-

e (1) [Option ID = 3201]

102) Deduct Entry in Stores Budget is operated

(1) To prevent double budgeting in Demand 16

2) Because both Workshop and Stores Suspenses are part
of Capital Suspense

(3 Neither option is correct

(4) Both options are right

ST g3 H & O AGI T FI gErdT AT B

() ST 16 H IO Joidlg UaYed & g9 & fofv

@) FEifer HREET 394 AT #3399 a1l 4ol 39d &
T 8

@ cd # T P FE

4 crar frwe wEr E

[Question ID = 802][Question Description = Q102_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3205]
2. (2) [Option ID = 3206]
3. (3) [Option ID = 3207]
4. (4) [Option ID = 3208]

Correct Answer :-
o (4) [Option ID = 3208]



103)
SIT (DT) is a suspense which monitors

(1)  Material transferred to other Zone

(2)  Material transferred from depot to depot in the same Zone
(3)  Material transferred to user depot

(4) None of the above

X AR E1.8) o 399 & fowe e o SAar

(1) \THI T GHY 8T (YE) B TATAARS & AT

() UE AN i@ F Fa wrARRE A v 3 @ guy By =
ST

(3)  WHN TG SUFIGAT & 50l F YT &

(4 A G P A

[Question ID = 803][Question Description = Q103_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3209]
2. (2) [Option ID = 3210]
3. (3) [Option ID = 3211]
4. (4) [Option ID = 3212]

Correct Answer :-
® (2) [Option ID = 3210]

104) |y supply tender if price differential between L-1 & L-2 is more than 3% and upto 5% then guanitity distribution ratio between L-1 & L-2 will be

(1) 60:40
@ 50:50
3 B5:35
(4 T70:30

AT WA OH, s L1 L2767 T F 3% F wigw T 5% A% 3 sm¢ oz, A7 L1 AT L2 F i A #7 AT F A=A F A9 2

(1) 60:40
i) 5050
3) 65:35

i) 70:30
[Question ID = 804][Question Description = Q104_AFA_PA_NAIRJUNE23]
- (M

[Option ID = 3213]
2. (2)

1

[Option ID = 3214]
3. (3)

[Option ID = 3215]
4. (4)

[Option ID = 3216]

Correct Answer :-
e (3

[Option ID = 3215]

Provident fund contributions to shop staff to be classified as

(1) Shop on cost

(2) General on cost

(3) Proforma on cost

(4) Administrative on cost

Urg & wATIE & yfacy @AY FeEt & giffea fear smar
&

(1) A1a U AT

) AT FUIT AT
(3) WA SO SIS
@  wemEia® SO g

[Question ID = 805][Question Description = Q105_AFA_PA_NAIRJUNE23]



1. (1) [Option ID = 3217]
2. (2) [Option ID = 3218]
3. (3) [Option ID = 3219]
4. (4) [Option ID = 3220]

Correct Answer :-
e (3) [Option ID = 3219]

The difference between time/tally sheet and labour Pay
sheet on average rate is allocated to

(1) General on cost
{2) Shop on cost

(3) Proforma on cost
(4) None of the these

HArga gT o FHA/LN uEe 3R Feql HIAIE UHd d AT @l
&gl 3dfed fear srar &

(1)  F\HAET SO ATTd
) T FUT AT

(3) OTPIAT I SIS
(4) sAH | W TG

[Question ID = 806][Question Description = Q106_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3221]
2. (2) [Option ID = 3222]
3. (3) [Option ID = 3223]
4. (4) [Option ID = 3224]

Correct Answer :-
e (2) [Option ID = 3222]

Cost of defect and spoilt work in experimental work is allocated to

1) General of cost
(2) Proforma of cost
(3) Shop on cost
(4) None of these

Wraife FEt & FET F el 3N @Ug wF H oSrea i
Culie 103

(1) TTAET U AT
() WIRIAT SO eI
3) Y FUY AT

() TAH Y DS FE

[Question ID = 807][Question Description = Q107_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3225]
2. (2) [Option ID = 3226]
3. (3) [Option ID = 3227]
4. (4) [Option ID = 3228]

Correct Answer :-
® (3) [Option ID = 3227]



108)
If terms and condition in PO to be changed then:

] Fresh PO is issued

2) Modification advice is issued

(3) Cancellation advise is issued

(4) Cancellation, then fresh PO is issued

TR Y Y & FIH A gat F afadd aear &, ar

@ R @ I &g ey Ay fear Srar @
@  FMYF gIar FJET A AT

@ T ®a AT gaar Jf fy A @

@ TE ®e T FI7 H7 3 Tar smar &

[Question ID = 808][Question Description = Q108_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3229]
2. (2) [Option ID = 3230]
3. (3) [Option ID = 3231]
4. (4) [Option ID = 3232]

Correct Answer :-
® (2) [Option ID = 3230]

109)  After totalling labour, stores and misc: for the month relating to each work, the total is fransferred to

11 Workshop General register
7 Accouni current

a WMS

W PH-T1

FC W F IO I OAEM AW, ST, a0 f@taw T AW F WIE R geaiaied 44T 9l 2

[ WTTETHT ATETRT TieeET H
o ST EETH

B mTEETET AT ST

Y AT ST T w

[Question ID = 809][Question Description = Q109_AFA_PA_NAIRJUNE23]
1. (1)

[Option ID = 3233]
2. (2)

[Option ID = 3234]
3. .(3)

[Option ID = 3235]
4. (4)

[Option ID = 3236]
Correct Answer :-
e (1)

[Option ID = 3233]



110)

110. As per IR code for Stores dept, Vol-I, which of the
following options regarding sources of supply or
receipt of material required by railway Is correct:

i Purchases

(2) Purchases and manufactured at workshop

3l Purchases, manufactured at workshop,
transfers from other railway / department

(4) Purchases, manufactured at workshop,
transfers from other railway / department
and returned.

g & #HsR @ls, #FT 1 & IR, R
fereneur & wla & @ MBI & gruEl @r Yo @
HETF TEAE UT B & a F T8 &

(1) =g

@ e 3R wraer & 5ET

@ mfE, e #@ BT, gl WvEaeE
T EEdidRd

(@ @lE, FREEr # G, gwt @/ e
T FEATaNe 31X a1 wiler g3

[Question ID = 810][Question Description = Q110_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3237]

2. (2) [Option ID = 3238]

3. (3) [Option ID = 3239]

4. (4) [Option ID = 3240]

Correct Answer :-

o (4) [Option ID = 3240]

Stock Verification is done by:

(1) Stores department

{2)  Accounts department
(3) By both departments
(4)  None of the these

FeTeh Beamad Teraes g1 fopam Sran &

(1) 9= faumr
2) o o
(3 crel s g

() 3AHFPIS AL

[Question ID = 811][Question Description = Q111_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3241]
2. (2) [Option ID = 3242]
3. (3) [Option ID = 3243]
4. (4) [Option ID = 3244]

Correct Answer :-
® (3) [Option ID = 3243]



112)

Proforma on cost charges are levied on works executed
for

(1) Other government department
(2) Store Department

(3) POH of other Railway

(4) All of the these

feneren forT et o & &1 W AT 3 e & AR
GRIEICIGIE

(1) & SR s
(2) 93W fHmEr

(3) oW Yo & drao
(4) 3 ¥ T

[Question ID = 812][Question Description = Q112_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3245]
2. (2) [Option ID = 3246]
3. (3) [Option ID = 3247]
4. (4) [Option ID = 3248]

Correct Answer :-
e (1) [Option ID = 3245]

Stores budget is a 'derived' budget because

(1) Stores department does not have its own budget

(2) Stores department budgets for all other
departments

(3) Allrevenue and workshop stock items
requirements are compiled in Stores budget

4) Allof these

¥ER TSI Uth Sgcded TIC adl &, Faiten

(1) H3R TTHT & UTH HUAT Dls TAC el elidl

(2) I faumr @y welt faamnt & e asre aerar &

(3) BR Teic F it TS U FRAIET &6 T Hal dr
STl Ol STeoTl Tl ST §

(4) SeTt & T

[Question ID = 813][Question Description = Q113_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3249]
2. (2) [Option ID = 3250]
3. (3) [Option ID = 3251]
4. (4) [Option ID = 3252]

Correct Answer :-
e (3) [Option ID = 3251]



114) Which of the following statements are correct?
The stock adjustment account is operated for recording differences arising out of

i. Variation in stock noticed on account of Stock Verification or Departmental Stock Verifieation
i. Changes in Price of stock purchased from market or manufactured at workshop
ii. Difference in book value and actual value realised on Scrap sale
iv. Rounding off

Which of the following option is correct:

i only iand il

4 onlyl, iandm

3 allare correct

4 only 1and i

TRefafas #a0 § G A9 420 £7 =% GAETAT oWl FEE 99 F S0 A1 904 & 0 SEnT A S §
i) ET BT =TF ST A7 [@AniT = 94T § O3 =F § AT,

iy AT F wAE AT AT FeaE 8 AT = F g § afede,

i) FE TEA T g AAiAm AAEA[ HEIAF 999 (qF) T F AT,

iv) T AT

THA A AW AT EEOT AE0 a4
| FEA I

& A, i =i

5 = EEE

W FETIETN

[Question ID = 814][Question Description = Q114_AFA_PA_NAIRJUNE23]
1. (1)

[Option ID = 3253]
2. (2)

[Option ID = 3254]
3. (3)

[Option ID = 3255]
4. (4

[Option ID = 3256]
Correct Answer :-
* (3

[Option ID = 3255]

A contract under which, during the period of its
currency, the contractor engages to supply material on
demand, irrespective of quantity, at fixed unit rate or
prices within a given period of the receipt of such order
is called

) Rate contract
) Running contracts
@ Schedule contract
y  Lumpsum contract

e T S o AT W OTe WA &
#, 59 o 37 e e Srar € @ e o A
&l 8, O PR TH HRY H wiy W FT H T
Fafer & i), Pufa s s T g w
LS Fe B AR Tl &, T &

() X S
@) o] ST
@) IR Sdr
() Teh-HIT Sl

[Question ID = 815][Question Description = Q115_AFA_PA_NAIRJUNE23]
. (1) [Option ID = 3257]
. (2) [Option ID = 3258]
. (3) [Option ID = 3259]
. (4) [Option ID = 3260]

AW N =



Correct Answer :-
® (1) [Option ID = 3257]

‘Payment by Results’ in workshop means

(1) Payment after results are declared
2) Incentive Bonus Scheme

3) Regular payment to workers

(4) None of these

UNUTAT & MUY UT H{IEIA' BT AT FqT ¢

() gfonsd SIfNT 8 & ag qarara
(2) WeHTesd @Ia® IrsTar

@) ErHEIN & foafEa gerara

@ IAH F IS TG

[Question ID = 816][Question Description = Q116_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3261]
2. (2) [Option ID = 3262]
3. (3) [Option ID = 3263]
4. (4) [Option ID = 3264]

Correct Answer :-
e (2) [Option ID = 3262]

Idle time expenditure is charged to

(1) Shop on cost work order

©2) General on cost workorder
(30 Proforma on cost workorder
4) None of these

atrT grT o @g aRE aar 2

(1) AT FUL AT BT T

@ AT ST A9 B G
@) UIPIHAT SO AT g 3T
() TAH T P TR

[Question ID = 817][Question Description = Q117_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3265]
2. (2) [Option ID = 3266]
3. (3) [Option ID = 3267]
4. (4) [Option ID = 3268]

Correct Answer :-
e (1) [Option ID = 3265]



118)

The debit for material received from Stores Depots to workshop is
allocated to

(1) Stores Suspense

@) Workshop Manufacturing Suspense
(3 Revenue

{4) None of these

THIA wrE e a1 AT S HIW B F FR@rar & e, 3% g6
fovar SToem

(1) ¥3IT 39d

@) PITEAT AT 3
3 TAET

() 3FH G DT AE

[Question ID = 818][Question Description = Q118_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3269]

2. (2) [Option ID = 3270]

3. (3) [Option ID = 3271]

4. (4) [Option ID = 3272]

Correct Answer :-

& (2) [Option ID = 3270]

Indirect charges not included in the cost of waork
done, but should be included in commercial costing
is known as

(1) Pro forma Oncost
2) General Oncost
3) Shop Oncost

4y All of these

I HUCHE UHY J HI@Eral # e v & areg & enfara
FEl B9, HIR aIorfegs ofeg # fde foer ana &

(1) SYSTAT FUL SIS
@) FTAEF FUr o199
@ AT ST o9 g

@ 3dH T gofr

[Question ID = 819][Question Description = Q119_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3273]
2. (2) [Option ID = 3274]
3. (3) [Option ID = 3275]
4. (4) [Option ID = 3276]

Correct Answer :-
e (1) [Option ID = 3273]



120)

The system adopted to compare the cost of similar
articles manufactured fromtime to time and finding
out reasons for variation is called

(1) Work order system
(2) Job costing

(3) Proforma costing
) None of these

39 ufdeq & &4 dgd & @A BREE d qHA-
w77 oY fofda wae argst & ara o Bea
forar amar & 3T araa F A & FRONT @7 gar
AT ATAT &

1) @ e aided

@ =g @rg iy

3) WIHTAT oera feratyor
) 3FH & W a8

=

[Question ID = 820][Question Description = Q120_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3277]
2. (2) [Option ID = 3278]
3. (3) [Option ID = 3279]
4. (4) [Option ID = 3280]

Correct Answer :-
e (2) [Option ID = 3278]

The Part | outturn statement indicates the outlay of works
completed in

(1) During the year

2) Monthly Accounts on hand
@) Quarterly

@) None of these

Scurge faexer &1 | # fpw afy # qut gr @l & afesw
e s €

() a¥ & g

@) =Te, ATHS @I
@ IATTE®

() 3AH F§ BIs TG

[Question ID = 821][Question Description = Q121_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3281]
2. (2) [Option ID = 3282]
3. (3) [Option ID = 3283]
4. (4) [Option ID = 3284]

Correct Answer :-
e (2) [Option ID = 3282]



122)
The ‘Average Annual cost of service’ also includes

(1) Annual sinking fund payment to depreciation fund
(2) Annual interest charges on the cost of the asset
(3) Both of these

(4) None of these

Tar & itag arffe w@reg & s off anfdre arar &

o) ®mo-grw A% § afe mor-mua F & g @
@ FU & JFET U F9A arelT arfid ears JIX

@) FAA F grEAl

() IAH | B3 Adl

[Question ID = 822][Question Description = Q122_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3285]

2. (2) [Option ID = 3286]

3. (3) [Option ID = 3287]

4. (4) [Option ID = 3288]

Correct Answer :-

® (3) [Option ID = 3287]

The amount projected under ‘Revenue credits’ of
Workshop Manufacture Suspense account
should correlate with

(1) Projections made in Revenue Demands 56,7
) Projections made in Capital Stores Suspense
@3) Projections made in PH 7100

4) None of these

FIEAT AT 399 JW@ F UAET HST' F
sasa faas a7 uf¥r sgarfag & ardr &,
IHHT YT Hag foFa # forges @y @rar =nfee

(1) TTET AT 5,6,7 F T T3 AgATTAT U
@) Uil H3W 3a4 & W 73 IgFfag ufdy

@ ufisear MY 7100 & & 7 wgafaa ofy
) TAH H BIg A€

[Question ID = 823][Question Description = Q123_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3289]
2. (2) [Option ID = 3290]
3. (3) [Option ID = 3291]
4. (4) [Option ID = 3292]

Correct Answer :-
e (1) [Option ID = 3289]



124)

Proforma On cost charges collected in deposit works is,

(1) Credited to Earnings
(2) Credited to Revenue Heads
(3) Credited to Plan Heads

(4) None of the these

e wral F FA T T AT SU SRt @1 B

(1) 3mHEeT 3 wfze frar STar &
(2) Tr=rea St # Hfee fFr AT &
(3) Traiaw it 3 hfse o ST &
(4) STH A RS &

[Question ID = 824][Question Description = Q124_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3293]
2. (2) [Option ID = 3294]
3. (3) [Option ID = 3295]
4. (4) [Option ID = 3296]

Correct Answer :-
e (1) [Option ID = 3293]

The debits for material supplied from Stores depot to workshop is
raised through

(1) Work Orders
@) Issue Notes

@) Receipts Notes
4) All of these

e 30t & FRgrer &=t 7 genh & gl § P sfe e aemw
¥ AT I €

(1) TPTE-3TERT
@ faaF A
@) wIE e

@) 33 & w

[Question ID = 825][Question Description = Q125_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3297]
2. (2) [Option ID = 3298]
3. (3) [Option ID = 3299]
4. (4) [Option ID = 3300]

Correct Answer :-
® (2) [Option ID = 3298]



126)

A record that shows the time for which wages are earned by each work
men is called

(1) Time book

2) Timesheet

@) Jobcard

4) None of these

ve Hfore vt a8 Far i =irar & forae fore uedes TR o Fegdr
fora & g

(1) HHI GEIdar

(2) HHAT T

(@) S @E

() TS A PIS T

[Question ID = 826][Question Description = Q126_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3301]
2. (2) [Option ID = 3302]
3. (3) [Option ID = 3303]
4. (4) [Option ID = 3304]

Correct Answer :-
® (2) [Option ID = 3302]

Workshop Manufacturing Suspense falls under which head of Accounis?

(1) Capital Suspense PH 7200
(2) Capital Suspense PH 7100
(3) Capital Suspense PH 7300
(4) None of these

PR GAT 39a fhw o Y & e e &

(1) 9&i 399 Trser 99 7200
(2) 90 39a Aser WY 7100
(3) O 399 Frser T 7300
(4) 3T ® PIE AL

[Question ID = 827][Question Description = Q127_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3305]
2. (2) [Option ID = 3306]
3. (3) [Option ID = 3307]
4. (4) [Option ID = 3308]

Correct Answer :-
e (1) [Option ID = 3305]



128)

Find the odd man out:

(1) Average Rate of Return
2) Profitability Index method
@3) Net Present Value

4 Internal Rate of Return

==H faum 3497 e

(1) ArEa ufawe g7

@ WHYCAT IS ulged
(3 AT TAATT TET

() AT TTAHA &1

[Question ID = 828][Question Description = Q128_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3309]
2. (2) [Option ID = 3310]
3. (3) [Option ID = 3311]
4. (4) [Option ID = 3312]

Correct Answer :-

e (1) [Option ID = 3309]

129)  |f you deposit Rs.10,000 today at 12% rate of
interest, in how many years will this amount grow
to Rs 80,000. Work out by using the rule of 72.

(1) 18 years
2) 12 years
3) 6 years
@4 8 years

37T 3T 37T 10,000 T &Y 12% TS 6T g7 & faFaer
&g &, O fopae aut 7 g T go@T 80,000 F &
Sraaf| 39 72 @1 fagd suhle & gv feare |

1) 18 guf &
@ 12 auf &
@ 6 sl F
4 8 aufa#

[Question ID = 829][Question Description = Q129_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3313]
2. (2) [Option ID = 3314]
3. (3) [Option ID = 3315]
4. (4) [Option ID = 3316]

Correct Answer :-
e (1) [Option ID = 3313]



130)
Which of the Following is true?

(1) Payback period method measures the true profitability of a project
2) Internal rate of return and time adjusted rate of return are the
same

(3) Capital rationing and capital budgeting mean the same thing
4y Average Rate of return method takes into account the time value
of money

dRRT IR AT ER

(1y #RuTS 3rafy ufdea ¥ fordr ufaiaran & sreel smavear Adt S &

() A Ui &3 3R T Ao ufawhe &3 gt o &

@) G R el A YoHITd T=Ic Tellel alell ol Adold Th & &

() 3T ufcwhel aX TS “O & THT Fpa” B TNGETT BT oaw
T &

[Question ID = 830][Question Description = Q130_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3317]
2. (2) [Option ID = 3318]
3. (3) [Option ID = 3319]
4. (4) [Option ID = 3320]

Correct Answer :-
® (2) [Option ID = 3318]

Which of them is a Traditional Method for Capital budgeting
decisions?

(1) Net Present Value

@) Internal Rate of Return
3) Average Rate of Return
() Profitability Index Method

qsirea a=idra faotat & fore eafefEa 3 ol @ e gwwane
ufged &2

(1) QEEIT-?HTH@IF

@) AN TaHT §T

3 3Htwa ufawe g3

) FHAYCAT HHSID aieed

[Question ID = 831][Question Description = Q131_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3321]
2. (2) [Option ID = 3322]
3. (3) [Option ID = 3323]
4. (4) [Option ID = 3324]

Correct Answer :-
e (3) [Option ID = 3323]



132)
All of the following are the functions of Management Accounting
except

(1) Decision making
) Measurement

3) Forecasting

{9y Ledger posting

frafala & & ol yaua s@ide & o 3 el 3a1?

(1) ferora aar
@) |1

(3) gaTHTH
(4) TE-WTaT SEUH

[Question ID = 832][Question Description = Q132_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3325]

2. (2) [Option ID = 3326]

3. (3) [Option ID = 3327]

4. (4) [Option ID = 3328]

Correct Answer :-

o (4) [Option ID = 3328]

The following does not take time value of money into
consideration

(1) Internal Rate of return Method
2) Net Present Value Method

(3) Pay-back Method

) Profitability Index Method

Fataiad # ia @ aided ‘g & §AT Ao & UideTar Ul
e =6 &

() 3nafe ufawe gY afged
P YL FIIE Hed uged

@ #Xars srafer afdea

W THYSH HEdish gieed

[Question ID = 833][Question Description = Q133_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3329]
2. (2) [Option ID = 3330]
3. (3) [Option ID = 3331]
4. (4) [Option ID = 3332]

Correct Answer :-
® (3) [Option ID = 3331]



134)  The purpose of Works Register as per the Engineering Code is
to

(1) Numerically list all works under Revenue and Capital in a
Division

(2) To list all works sanctioned under D.No.16 with reference to

sanctioned cost, budget allotment and details of expenditure
incurred

(3) ltis a register maintained in the office of the Chief Engineer
(Civil)

(4) None of the above

sShifaad otz & Fgarfaw faator fSowey @& 337 &

(1) Ty #za & Toa gt USET vd ST & 3ada gt araf
HT HEATFHET F

(2) T . 16 & 3g9d A arer G T&hpa AATU-HE B
arer @t @ g gar #

(3) I8 Ud Uawey @@ twwEa g Jfaaqar (Ffae) &
AT H arar &

(4) TH | B3 FE

[Question ID = 834][Question Description = Q134_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3333]
2. (2) [Option ID = 3334]
3. (3) [Option ID = 3335]
4. (4) [Option ID = 3336]

Correct Answer :-
e (2) [Option ID = 3334]



135
) Productivity Test as a method of Post Project

appraisal is used for which category of Works
in the Railways?

[} Works Charged to Development Fund

#  Waorks which will lead to a financial return on capital
invested in terms of traffic revenue eamed after
opening of a new line as compared to estimated
revenue [eamings

3 Works sanctioned in a Production Unit for all high
value capital machinery plant and the
corresponding increase in the physical output in the
Production Unit

@ Works sanctioned for station development works to
measure the increase in number of orginating
passengers after the station development work is
over

o & fopg umr & &t &rd & fore scurgaar udiaror &1 oA
aRR T FeaTde Ofged & T & SUAET LRI T 67

g fator-wE o faare f3f av e &

y O T EEE FgaaT IS 91 HFHeT i
geer & g3 BFay e § ade A Al uiawe
Ao St 52 wisd g ¥ Fes arer ganEn
ITHAGAT & &4 & BT

g R SouEs ss & 39 9 e geiera #efied
Tg §4F & ipd HAOLHR 3T 399 30916 s
& gr=r arelt Hif9® scure & aeradr

1) ﬂ'ﬁﬁﬁﬁ—ﬁ?&éﬁﬁ?mmﬂimﬁf@ﬁiﬂﬁ

g wya TeE F wF AW o - 6 dg

e Wy Y gEar F S geedr @ A S

e

[Question ID = 835][Question Description = Q135_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3337]
2. (2) [Option ID = 3338]
3. (3) [Option ID = 3339]
4. (4) [Option ID = 3340]

Correct Answer :-
e (2) [Option ID = 3338]

Which of the following Articles deals with duties and responsibilities of
Comptroller and Auditor General of India (C&AG)?

(1) Articles 178to0 181
2) Articles 169to 171
@3) Articles 159to 161
) Articles 14910 151

Prrafala # & ola | 3gede Rd & [Adas vd Aeordr uliss
(@) e 3R GeRaiEl awEafaa

(1) Ao 179F 181
(2) gToE 169H 171
(3) 3F=oE 159 ¥ 161
(4) 3T=SE 149 151

[Question ID = 836][Question Description = Q136_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3341]
2. (2) [Option ID = 3342]
3. (3) [Option ID = 3343]
4. (4) [Option ID = 3344]

Correct Answer :-
® (4) [Option ID = 3344]



137)

Which of the following Ministries of Govt. of India has been delegated
with the functions reiating to the opening of subheads and detailed heads
of Accounts under major and minor heads of Accounts relaiing to therr
ministries?

{11 Ministry of Agriculture & Ministry of Defence

2y Ministry of Railways & Ministry of Civil Aviation

3 Ministry of Telecommunications & Ministry of Petroleum,
Chemicals & Fertilisers

) Ministry of Railways & Ministry of Defence

AT TR o T teiad e 3 3 Freen Sereh aieg O aied o &

T 9 v o o 3 ded 30 ot 3t farae o @ i @ wafeT w
g o &2

() BT IR AR TET FEeT
@ Yol = 3N AR 3saa H@AeE
B GIEER AR I U o, TS A S e

() o7 FATERT T T&T FATerR

[Question ID = 837][Question Description = Q137_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3345]
2. (2) [Option ID = 3346]
3. (3) [Option ID = 3347]
4. (4) [Option ID = 3348]

Correct Answer :-
® (4) [Option ID = 3348]

Which one of the following Rules of General Financial Rules (GFR) 2017

prescribes that the “Govemment Accounts shall be prepared on Cash
basis?

(1) Rule73
2) Rule74
) Rule75
) Rule76

araT=y o T H (GFR) 2017 & fAeafafea # @ o9 @ fogw Guta
AT & o6 "EXNT @1 3T B APaT U 9% ST o Sreem'?

m TEET3
o TEF74
@ fEaE75
4y 76

[Question ID = 838][Question Description = Q138_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3349]
2. (2) [Option ID = 3350]
3. (3) [Option ID = 3351]
4. (4) [Option ID = 3352]

Correct Answer :-
e (2) [Option ID = 3350]



139)

Indian Railways Balance Sheetis prepared as a part of?

(1) Capital and Revenue accounts
2) Final Accountcurrent

@) Monthly Account Current

{4) Appropriation Accounts

AT Yo T Jolel-T fepaeh {11 & w0 3 S fepar =ar 82

(1) =i 3R TerE @
(2) e =g @en
(3) FTHe® =Tel @i T
(4) Tafem @

[Question ID = 839][Question Description = Q139_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3353]

2. (2) [Option ID = 3354]

3. (3) [Option ID = 3355]

4. (4) [Option ID = 3356]

Correct Answer :-

o (4) [Option ID = 3356]

Which of the following statements is correct with reference to ‘Route
Kilometre?

(1) The length of all running track, excluding tracks in sidings, yard and
crossings.

() The length of all running track, including tracks in sidings, yard and
crossings.

(3) The distance between two points on the railway irrespective of the
number of lines connecting them, whether single line, double line, etc.

(1) None of these.

Tt fopeeier ey #F Tetie #§ aela o aua e

(1) wifzsen, o 3y wifder & Yeuy @ ey @i W ey & Fas

(2) T, ars 3R wfdr & Wwuy @ Fere g @ oy & das

(3) Y& WO WX & ¥ & I i gl T swe el ofr arsa @,
FheY olSel, Al osdl 3G 3UE # F3ar &

(4) 39H | Prs a8l

[Question ID = 840][Question Description = Q140_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3357]
2. (2) [Option ID = 3358]
3. (3) [Option ID = 3359]
4. (4) [Option ID = 3360]

Correct Answer :-
e (3) [Option ID = 3359]



141)

Which of the following options is correct with reference to “Net Load / Net
Tonnage"?

(1) Payload of passengers, luggage or goods carried by a vehicle or a train.
(2) Gross Tonnage comprising payload and tear weight hauled by a train
over one kilometre

(3) Payload of one tonne carried over one kilometre

(4) None of these

UZ R/ YL T MR 5 ¥y & Pl & aela o Reau a@ ¥

(1) Tordt aree o fordy a8 ST o 9T WAL, WS W A @ 9-AS

(2) Tordt ve TET g1 v T go @ 9T goe o AR o gl
AR fex aR wifde &

(3) TH forelidliey d& aifed Téh e AT @ U-dls

(4) 3H @ @I T

[Question ID = 841][Question Description = Q141_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3361]
2. (2) [Option ID = 3362]
3. (3) [Option ID = 3363]
4. (4) [Option ID = 3364]

Correct Answer :-
e (1) [Option ID = 3361]

142) Consider the following pairs of abbreviations and their full form with relation to Railways:

i) CMS. Cash Management System

it} CCLMS: Coaching Crew Link Management System

iy ROSMOS: Ralling Stock Sanctions Management System
iv) HMIS: Human Management Information System

v) WISE: Works management Infermation System

Which of the pairs given above is/are correctly matched?
i (i) and (i) only
@ (iyand (i) only
4 (i), (iv) and (v) anly
W0, (v) and (v) only

A HEAG A HEEaT A9 S 39% 1 [dedle 99 (4= hian

i) HTTETE s Aaaa Hea

jiil) ArTETETESTTE AT = AgsE Gawas aew
iv) TETHAIETE SIAT SA9HE TR fHea

V) =TEe TEE AdeAE sHHe oA

FUTRUAT ST B AT A AT g ?
(1) =& (i) 7@ (i)
(2) = (i) @ (iii)
@) (i), (iv) F7(v)
(4) = (i), (iv) 5 (v)

[Question ID = 842][Question Description = Q142_AFA_PA_NAIRJUNE23]
1. (1)

[Option ID = 3365]
2. (2)

[Option ID = 3366]
3. .(3)

[Option ID = 3367]
4. (4)

[Option ID = 3368]
Correct Answer :-
e (1)

[Option ID = 3365]



143)

‘Capacity Building Commission’ is associated with

() Mission Satyanishta
) Mission Karmayogi
3 Mission Raftar
@) Mission Saksham
"&THaT foaAToT 3T o w9y feew &
() TR Featesr
@ Tee edaef
@ PRE IR
@ e wEs

[Question ID = 843][Question Description = Q143_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3369]
2. (2) [Option ID = 3370]
3. (3) [Option ID = 3371]
4. (4) [Option ID = 3372]

Correct Answer :-
® (2) [Option ID = 3370]

Which of the following surveys need to be under-taken in conjunction with
Traffic Survey so that the Technical feasibility and costs of the alternative
proposals can be taken into account while formulating the
recommendations?

i) Reconnaissance Survey
i) Preliminary Engineering Survey

M (i)only

@) (iiyonly

@ Both (i) and (i)

@)  None ofthe given options

forafafas # O ola T gd&or A Irarang FI&0T & g9 # v Fer
HTTITDAT & ATich HGHTCe I (B B IR T THT dhfoden TEdmar
TR AT TITETehaT 3T AT9Td & ¢T3 &1 57 Th7?

i) €% JIEoT
ii) wTEfaven SShfaaiier aderor

(1) ae (i)

@y ad (ii)

@ (i) 3 (i) 2t

¢ SAH ATFSTA

[Question ID = 844][Question Description = Q144_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3373]
2. (2) [Option ID = 3374]
3. (3) [Option ID = 3375]
4. (4) [Option ID = 3376]

Correct Answer :-
® (3) [Option ID = 3375]



145)
Expand the term "MLR"

M Mid Life Renewal

) Mid Life Refurbishment
@ Mid Life Rehabilitation
4y Mid Life Replacement

"THATHIR(MLR) @ g faear difere

m o oEw fegae

@ s s efaEe
@ [ wEw ReRfeeE
w s o oo

[Question ID = 845][Question Description = Q145_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3377]
2. (2) [Option ID = 3378]
3. (3) [Option ID = 3379]
4. (4) [Option ID = 3380]

Correct Answer :-
e (3) [Option ID = 3379]

Expand the term “UDM’

{1 Unified Depot Module
2 Universal Data Module
{3) User Depot Module

(4) User Data Module

TETH W e ER AT

(1 FAwss o Ay
@ g e AEge
@) e U AR
() oI ST AZgA

[Question ID = 846][Question Description = Q146_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3381]
2. (2) [Option ID = 3382]
3. (3) [Option ID = 3383]
4. (4) [Option ID = 3384]

Correct Answer :-
e (3) [Option ID = 3383]



147)
The current year 2023 is being celebrated world over as the International
Year for which of the following crops?

m Rice

@) Wheat

@ Millets

M Foodgrains

AT Y 2023 i e woer & fore sreiery ad & wu 3 forar o 3 weran o g

g2
(1) PICE!
@® g
R GG
@ T

[Question ID = 847][Question Description = Q147_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3385]
2. (2) [Option ID = 3386]
3. (3) [Option ID = 3387]
4. (4) [Option ID = 3388]

Correct Answer :-
® (3) [Option ID = 3387]

On which post, Government has reinstated Michael Devavarat Patra for one
year

(1) Deputy Govemor, RBI

(2) Chairman, SBI

(3) Chairman, LIC

(4) Vice President, Niti Aayog

TR & AZHd adad a1 i forg U o= v a9 o fow gafergim & &7

M) AR N 3 & B e
@) HRAE T g b gl

@) Sirge 9 fAeTH & T

() ST 3T & SuTeTa

[Question ID = 848][Question Description = Q148_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3389]
2. (2) [Option ID = 3390]
3. (3) [Option ID = 3391]
4. (4) [Option ID = 3392]

Correct Answer :-
e (1) [Option ID = 3389]



149)
The song, “Natu Natu” which won the ‘Golden Globe Award’ for the best
original song, belongs to which Telugu movie?

(1) RRR

(2) War

(3) Gully Boy
(4) Sindhuram

QUED OTH Z3T 27
() 3R AR IR
@ dr
@ el gy

w g

[Question ID = 849][Question Description = Q149_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3393]
2. (2) [Option ID = 3394]
3. (3) [Option ID = 3395]
4. (4) [Option ID = 3396]

Correct Answer :-
e (1) [Option ID = 3393]

In which city of India the 17" ‘Pravasi (diaspora) Bhartiya Diwas was
celebrated in January 2023

1) New Delhi
@) Mumbai
@) Indore

) Jaipur

NS & forg Qe & 1741 wardt Ra fegw geated Sqadr 2023 & gETeA
gam?

() o3 feoel

@ HAFES
@) 3R
(@) I

[Question ID = 850][Question Description = Q150_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3397]
2. (2) [Option ID = 3398]
3. (3) [Option ID = 3399]
4. (4) [Option ID = 3400]

Correct Answer :-
e (3) [Option ID = 3399]



151)

In January 2023, the share price of which of the following business groups
fell sharply leading to incurrence of huge losses to investors

(1) Ambani
(2) Adani

(3) Godrej
(4) Tata

frafefas & @ fong 3T TeE & IRt 3 9 fORmae & @ror gt @t
ST FRTTe T TIHAT SAeTadr 2023 F BT T2

(1) 3=F=mEr
(2) 3=
(3) dMexst
4) T

[Question ID = 851][Question Description = Q151_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3401]
2. (2) [Option ID = 3402]
3. (3) [Option ID = 3403]
4. (4) [Option ID = 3404]

Correct Answer :-
e (2) [Option ID = 3402]

Where has the ‘Manohar International Airport’ been established?

(1) lanagar

(2) Mumbai

(3) Goa

(4) Chandigarh

(1) 3EER

(2) #Fas
(3) amar
(4) T=NTE

[Question ID = 852][Question Description = Q152_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3405]
2. (2) [Option ID = 3406]
3. (3) [Option ID = 3407]
4. (4) [Option ID = 3408]

Correct Answer :-
e (3) [Option ID = 3407]



153)

Which of the following is a Share price indicator of a National Stock

Exchange

(1)  Nasdag

() Sensex

{3) Nifty

() Dow Jones

foreafafa & @ ol a1 ven TEY T Taast o AT Hed G &7

(1) &5=&
(2) @HFH
(3) m&wr
(4) sraE|

[Question ID = 853][Question Description = Q153_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3409]
2. (2) [Option ID = 3410]
3. (3) [Option ID = 3411]
4. (4) [Option ID = 3412]

Correct Answer :-
e (3) [Option ID = 3411]

How much provision has been made by Central Govt. as ‘Gross budgetary
support’ for Railways under Capital expenditure in 2023-24

) 1.77 Lakh Crore
) 2.05 Lakh Crore
@) 2.25 Lakh Crore
) 2.40 Lakh Crore

Ty 2023-24 F o & folw HE AR & Yoord oea™ # fonaen wwet
TAET YT TET§7?

(1)  1.77 9@ HUs
(2) 2.05 9GS
(3) 225 AWM
(4) 2.40 9@ FS

[Question ID = 854][Question Description = Q154_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3413]
2. (2) [Option ID = 3414]
3. (3) [Option ID = 3415]
4. (4) [Option ID = 3416]

Correct Answer :-
® (4) [Option ID = 3416]



55 For income tax payee of salary class and pensioners, which of the following
reforms have been announced in this year's budget

|. For salary class, standard deduction of Rs 50,000 is allowed
Il. For family pensioners, standard deduction of Rs 15,000 is allowed
Ill. Income up to Rs, 7 lakh is tax free

Which of the option is correct?

§h Only 111

@) Only | and Il
3 Only |

() I, 11, and Il all

MR T 7S Tl F TTTHIT T T UTHDAT HTTAIEIAT3HT & forw

freafofea # ¥ o9 @1 guR 39 a9 & asic # fomar = &7

|. SFARIFITT B 50,000 T P HATeTD Felar HIHT [ e

II. arfaTiies GRIe U dlet aTel & forT 15,000 ¥ T HATeieh el HegHed fenar
SITet

1. 7 @ ¥ e &l 31 & G art
ugE A A AT @ AT T2

(1) waa

(2) walTall
(3) Al

(4) 1,1, T g

[Question ID = 855][Question Description = Q155_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3417]
2. (2) [Option ID = 3418]
3. (3) [Option ID = 3419]
4. (4) [Option ID = 3420]

Correct Answer :-
e (4) [Option ID = 3420]

National Digital Library is being established mainly for which class of
people

) Children and adolescents

) Youths studying in higher studies

) Adolescents studying commercial courses
) People studying in Adult education

EDR® S

4

e RBfSes grdarerd & T U9er g w9 ¥ fonw adt & forw T o W e

(1) acar AR e & forw

(2) 3= e # aregeRy garsi & fow

(3) TATIIWITAT UTGTHAT 3 HETTAT [ & forw
(4) ute R F sreggeag aafeat & oo

[Question ID = 856][Question Description = Q156_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3421]
2. (2) [Option ID = 3422]
3. (3) [Option ID = 3423]
4. (4) [Option ID = 3424]

Correct Answer :-
e (1) [Option ID = 3421]



157)

Which cricketer got the ‘Gary Sobers Trophy' in 2022 for the best cricketer

(1) Babar Azam
(2) Virat Kohli

(3) Ben Stokes
(4) Surya Kumar Yadav

2022 79 & forw wd4E fifpey @ % Tew ReaR fora Rndex ot Brem &2

() e 3ATsH

@ ToxIe ®igel
3 UT T
() FIPAR e

[Question ID = 857][Question Description = Q157_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3425]

2. (2) [Option ID = 3426]

3. (3) [Option ID = 3427]

4. (4) [Option ID = 3428]

Correct Answer :-

e (1) [Option ID = 3425]

President of which country came to India on 74" Republic Day as chief
guest

(1) Egypt

©) Brazil

@ lran

¢4) Bangladesh

74 d 7T fGad FARTE # #ET HTATY & U H fong 21 & Tgufd AR HT

7
m B
VIEECICIE
@ e
@y TS

[Question ID = 858][Question Description = Q158_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3429]
2. (2) [Option ID = 3430]
3. (3) [Option ID = 3431]
4. (4) [Option ID = 3432]

Correct Answer :-
e (1) [Option ID = 3429]



139) Which of the following IT applications is not connected to passengers’

amenities
(1) NGeT
) NTSE
@ ICMS
4 FOIS

Tt 3 & vuchenta F & ale @ It & glaar & Tafia a8 &2

) TESES

@ THIETH

@ S.E.TATHE
) TEHIALINETE

[Question ID = 859][Question Description = Q159_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3433]
2. (2) [Option ID = 3434]
3. (3) [Option ID = 3435]
4. (4) [Option ID = 3436]

Correct Answer :-
® (4) [Option ID = 3436]

Finalisation of Store tender is done through IREPS, and then through
which application the Purchase Order is issued?

m  UDM
2 MMIS
@ IRPSM
4 IPAS

TS HR.2.U1.0H & ATETH & Te =1 &1 uferar g & o &, 3R e =@ lig
STER TohH TUGITehRIeT & 1T 8T &7

) ZAoH
@ THATAINSTHE
@ B IRUGTITH

@ Sy

[Question ID = 860][Question Description = Q160_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3437]
2. (2) [Option ID = 3438]
3. (3) [Option ID = 3439]
4. (4) [Option ID = 3440]

Correct Answer :-

® (2) [Option ID = 3438]

In which article of the Constitution of India mentioned Directive for
development of the Hindi language?

(1) Article 343
2) Article 344
@)  Article 351
@)  None ofthese

f&dr T & Forarw & fore Toger a1 Soorg 9Ra & Tfayre & foog argeoe # &7

(1) 3Ig=te 343
(2) HgTeG 344
(3) 3geeR 351
(4) T § PS A



[Question ID = 861][Question Description = Q161_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3441]

2. (2) [Option ID = 3442]

3. (3) [Option ID = 3443]

4. (4) [Option ID = 3444]

Correct Answer :-

e (3) [Option ID = 3443]

How many total members are there in the Parliamentary Committee on
Official Language?

THET T FH 3 Tl ol Teeg ela & 7

(1) 10
(2) 20
(3) 30
(4) 40

[Question ID = 862][Question Description = Q162_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3445]

2. (2) [Option ID = 3446

3. (3) [Option ID = 3447]

4. (4) [Option ID = 3448]

Correct Answer :-

o (3) [Option ID = 3447]

In which year the Official Language Act was amended?

1964
1965
1966
1967

WK =

(
(
(
(

T AR # gurae forg av frar T am 2

(1) 1964
(2)1985
(3)1966
(4)1967

[Question ID = 863][Question Description = Q163_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3449]
2. (2) [Option ID = 3450]
3. (3) [Option ID = 3451]
4. (4) [Option ID = 3452]

Correct Answer :-
® (4) [Option ID = 3452]
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On which state the official language rule is not extended?

(1) Mizoram

(2 ) Tamil Nadu
(3) Goa

(4) None of these

TrerTaT fores o RreaR fohe e wagr 2

(1) F=RH

(2) afdreeg
(3) Tar

(4) 3598 q @IS TR

[Question ID = 864][Question Description = Q164_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3453]
2. (2) [Option ID = 3454]
3. (3) [Option ID = 3455]
4. (4) [Option ID = 3456]

Correct Answer :-
o (2) [Option ID = 3454]

The names of those offices of the Central Government, whose employees
have acquired ............. percent working knowledge of Hindi are notified in
the Official Gazette?

T TR & [T rarerdr & HaaTEr o ....... uferer &l an sdaras
T o7 o o &, 3 SraTerdi & AT A9 F AR ol A € 2

(1) 60 ¥
(2) 70 %
(3) 80 %
(4 )100%

[Question ID = 865][Question Description = Q165_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3457]
2. (2) [Option ID = 3458]
3. (3) [Option ID = 3459]
4. (4) [Option ID = 3460]

Correct Answer :-
® (3) [Option ID = 3459]
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Hindi got constitutional status on?

) 10 January 1875

) 14 September 1949
) 10 September 1975
)

(
(
(
(4) 14 September 1963

1
2
3
4

(1) 10 ST 1975
(2) 14 REFaT 1949
(3) 10 Tag#ax 1975
(4) 14 TagFav 1963

[Question ID = 866][Question Description = Q166_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3461]
2. (2) [Option ID = 3462]
3. (3) [Option ID = 3463]
4. (4) [Option ID = 3464]

Correct Answer :-

e (2) [Option ID = 3462]

In which language can an employee make an application, appeal or
representation according to the Official Language Rules?

(1) Hindi

(2) English

(3 ) Either Hindi or English
(4) Anylanguage

AT FTH &F TR TS o FHANT HTIeed, HUT AT HITTIEeT fohd HTaT
H T HhAT 67

(1) f&&ra
(2) 3= A
(3) B ar s &
(4) ferddtofft gror &

[Question ID = 867][Question Description = Q167_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3465]
2. (2) [Option ID = 3466]
3. (3) [Option ID = 3467]
4. (4) [Option ID = 3468]

Correct Answer :-
o (3) [Option ID = 3467]
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If any employee has passed Matriculation or its equivalent or higher
examination with Hindi medium, then which of the following shall be
treated as?

( 1 ) Staff having proficiency in Hindi

( 2 ) Staff having working knowledge of Hindi
( 3 ) Staff not trained in Hindi

(4 ) None ofthese

Tfe; ferddt amatardY & A a1 3T Tagey 3ryar 343 STaal UlieT fR=er
AeTH T A0t Y o € a7 38 faeafarfag & & &= Fren e 2

(1) T&&r # vdiorar wie weird

(2) F&&r o Frdarees e Ui weETd
(3) & & amffera wememd

(4) SAH A RS A&

[Question ID = 868][Question Description = Q168_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3469]

2. (2) [Option ID = 3470]

3. (3) [Option ID = 3471]

4. (4) [Option ID = 3472]

Correct Answer :-

o (1) [Option ID = 3469]

What is the name of the software available in the website of
Department of Official Language, Ministry of Home Affairs for
translation from English to Hindi?

(1) Lila
(2) Mantra

(3) Shrutlekhan
(4) Pravachak

3Tt & TR 3egare o forw T=reimr AT 97 FHarerg df daase & 30eed
HIFEIIT & T ATH &2

(1) e
(2) &7
(3) #dEa
(4) varas

[Question ID = 869][Question Description = Q169_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3473]
2. (2) [Option ID = 3474]
3. (3) [Option ID = 3475]
4. (4) [Option ID = 3476]

Correct Answer :-
® (2) [Option ID = 3474]
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According to the annual programme for the year 2022-23 for the use
of Hindi, what percentage of Hindi note is set in 'A' region?

& & waeT & forw a¥ 2022-23 & aTfies Sried & 3PN & 8T &
ferqur @ feraer afaea s Fuifa &2

(1) 25 %
(2) 50 %
(3) 75 %
(4) 100 %

[Question ID = 870][Question Description = Q170_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3477]
2. (2) [Option ID = 3478]
3. (3) [Option ID = 3479]
4. (4) [Option ID = 3480]

Correct Answer :-
e (3) [Option ID = 3479]

Who prepares the annual program of the official language?

(1) Human Resource Ministry
( 2) Rail Ministry

(3) All Ministries

(4 ) Home Ministry

TTSTATYT T 1T I Diel AT HLaT &7

(1) FeIg TEYGS FATSI
(2) ¥ e T
(3) |t FaT™
(4) TE FT

[Question ID = 871][Question Description = Q171_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3481]
2. (2) [Option ID = 3482]
3. (3) [Option ID = 3483]
4. (4) [Option ID = 3484]

Correct Answer :-
® (4) [Option ID = 3484]
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How many times in a year the examinations of Hindi course are
organized under the Hindi Teaching Scheme?

) 1 time

) 2 times
) 3 times
) 4 times

(1
(2
(3
(4

& Rietor Freer & eava BuiRa & ureass & oded av #
foperelt a S =mer & 2

(1) 19”
(2) 29K
(3) 38R
(4) 43R

[Question ID = 872][Question Description = Q172_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3485]
2. (2) [Option ID = 3486]
3. (3) [Option ID = 3487]
4. (4) [Option ID = 3488]

Correct Answer :-

e (2) [Option ID = 3486]

How many members of Rajya Sabha are there in the Parliamentary
Committee on Official Language?

(
(
(
(

BowW N =
o= = N
NOoO O

TEET TAT AATT F Toawe & fhae geE @ ¥

e e St
I\J—'-—!N

(1
(2
(3
(4

[Question ID = 873][Question Description = Q173_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3489]
2 (2) [Option ID = 3490]
(3) [Option ID = 3491]
4 (4) [Option ID = 3492]

Correct Answer :-
e (3) [Option ID = 3491]
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Who has been given the power to make rules for carrying out the
purposes of the Official Languages Act?

1) Central Government
2 ) State Government
3 ) Governor

4 ) None of these

(
(
(
(

TSHTYT HTATTH & UASTell P drdiicad $iel & forw TH deliel &1 Uih
e veadrag &2

(1) &eg BIHIT A
(2) =T TFHR @F
(3 ) T=TuTe @

(4 )5 A g FE

[Question ID = 874][Question Description = Q174_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3493]
2. (2) [Option ID = 3494]
3. (3) [Option ID = 3495]
4. (4) [Option ID = 3496]

Correct Answer :-
e (1) [Option ID = 3493]

In which year the President's orders regarding the official language were
issued on 27th April?

[Question ID = 875][Question Description = Q175_AFA_PA_NAIRJUNE23]
1. (1) [Option ID = 3497]
2. (2) [Option ID = 3498]
3. (3) [Option ID = 3499]
4. (4) [Option ID = 3500]

Correct Answer :-
® (2) [Option ID = 3498]





